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Which among the following best describes emotional intelligence as a learner characteristic ?

a) Recognise their own and other people’s emotions

=5

) Expressing their emotions strongly

) Use emotional information to guide thinking and behaviour

r

d) Good observation, scientific thinking and deductive reasoning

(e) Adjusting emotions to adapt to environments
(f)  Being creative and open to diverse viewpoints
Code :

Options:

(a), (d) and (f)

912394544401,

(c), (e) and (f)

91334544402,

(a), (c) and (e)

912334544403,

(b), (d) and (e)

91334544404,

Question Number : 1 Question Id : 91394311303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91394344401, (a), (d) AR ()
91394344402, (), (e) 3 (f)

(a), () ¥ (e)

91234544403,



(b), (d) 3 (e)

91234544404,

Question Number : 2 Question Id : 91394311304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following can best be used as an asynchronous teaching aid ?

(a) Skype (b) Blog (c) Facebook post
(d) Online chat (e) Email (f)  Google Hangout
Code :
Options:

(a), (c) and ()

9135334244405,

(), (e) and (f)

912345444086,

(a), (b) and (c)

91334544407,

(b), (c) and (e)

91234544408,

Question Number : 2 Question Id : 91394311304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
i | 9 69 U siqeaeiias (URHEHMAY) e e 9l & &9 § 9gF fHa1 S el
g2

(a) TS (b) = () EIF U
(d) SATAEA =2 (€) FHA (f)  TETA 2B
<
Options:

912334544405,

912345444086,

2915334244407,

913345444085,



Question Number : 3 Question Id : 91394311305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The goal of formative assessment is to :
Options:
2 .
01294344409, Promote student to next level

Monitor student learning to provide ongoing feedback
91394344410,

Compare student learning against a standard or benchmark
91394344411,

Form a group of students on the basis of their learning
91394344412,

Question Number : 3 Question Id : 91394311305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T *
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Options:
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91394544403,

Had wieded Yer faenet At =1 R

915334244410,
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2915394244411,
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9123345444172,
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Correct Marks: 2 WrongMarks: 0

In a school, in which there are large number of failures, you may like to develop test for

eliminating those who are likely to have substantial difficulties in meeting the academic

goals of teaching. For this you need to develop test which should be able to predict the
individual’s ability or readiness to undertake the study of a school subject successfully. What

is the name of such tests ?
Options:

Prognostic tests
91394344413, 4

91394344414 Achievement tests



o1394344415, [2iHitude tests

Analvtical tests
91394344416, J
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334544413,
912334544414,

91334544415,

s . 1

EEGENIREE IR |

912334544416,

Question Number : 5 Question Id : 91394311307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
In teaching learning context, results of an evaluation are useful to teachers in various ways.
Which among the following is most important use for a teacher ?

Options:
planning instruction and knowing the effectiveness of the teaching strategies used by

91394344417 LhEM.

T getting information about student’s study interests.

" ““ C % " I_‘ .L.' 1 ] 1 L.' . 1 " I..'l
1504344410 [0 decide placement of students in other institutions

to identify home influence on students.
91394344420, »
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Correct Marks: 2 Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The characteristics of scientific method of research are :

(a) Empiricism (b)  Objectivity (c) Systematic
(d) Secretive (e) Security related (f)  Predictive
Code :
Options:

(a), (b), (d) and (e)

91394344421,
91394344422, (c), (d), (e) and (f)

(d), (e), (f) and (a)

913394544423,

(a), (b), (c) and (f)

291594244424
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I R S fafe s faema €

(a) SATYIAI] (b) S (c) AT
(d) T (e) T ¥ Hafyd (f) AfTeTg=®
W‘ »

Options:




(a), (b), (d) 3R (e)

91334544421,

(c), (d), (e) 3R (f)

91334544427,

(d), (), (f) 3R (a)

91394544423,

(a), (b), (c) ¥R ()

9153942444424
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Correct Marks: 2 Wrong Marks: 0

In a research setting, participants may act differently because they think they are getting
special attention. This reaction of treatment group to the special attention rather than the
treatment itself is called as :

Options:

'l ") B
e T throne effect

1294344406 Attention deficit

Jung effect
91394344427, © ©

Marlov effect
91394344428,

Question Number : 7 Question Id : 91394311309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B 99d

91334544425

S I HH

912334544426

KA
91334544427,
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Question Number : 8 Question Id : 91394311310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When a reviewer reviews a research article without knowing the author’s name, it is referred
to as :

Options:

Anonymous review
91394344429, 4

. o : -
1394344450, D€NINd - the - curtain review

91394344431, DiNd TeView

Un::ategnrised review
91394344432,

Question Number : 8 Question Id : 91394311310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

TEATH FHie

91334544429

- e gHteq

91334544430

- SAYHE THIET

913342444351

913345444372, # % waﬂ

Question Number : 9 Question Id : 91394311311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The kind of numbers which do not represent amounts but instead represent kind (different
qualities, types or categories) are called as :

Options:

YN
91394344433, Nominal

Ordinal

91334544454,

5.
9153942444355, Prime



Absolute
913943244436,

Question Number : 9 Question Id : 91394311311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

HIATHS

91334544433,

915394244454 ” |

91334544435, .

9153342444356, ‘!

Question Number : 10 Question Id : 91394311312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Poster sessions in research conferences provide better opportunities for :

Options:
Formal speeches

91394344437, & O AL SPE

Disp[ew of common interest
91394344438, A

Focus group discussions
91394344439, 3

Inter-personal interactions
91394344440,

Question Number : 10 Question Id : 91394311312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

A= 9Ty

21594244457,
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91334544435,
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Sub-Section Number: 2
Sub-Section 1d: 913943574
Question Shuffling Allowed : Yes

Question Id : 91394311313 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehiension

Read the passage carefully and answer questions 11 to 15 :

Today, in the digital age, who owns information owns the future. In this digital world, we
face a fundamental choice between open and closed. In an open world information is shared by
all freely available to everyone. In a closed world information is exclusively owned and controlled
by a few. Today, we live in a closed world a world of extraordinary and growing concentrations
in power and wealth. A world where innovation is held back and distorted by the dead hand of
monopoly; where essential medicines are affordable only to the rich, where freedom is threatened
by manipulation, exclusion and exploitation; and each click you make, every step you take, they
will be watching you. By contrast, in an open world all of us would be enriched by the freedom to
use, enjoy and build on everything from statistics and research to newspaper stories and books,
from software and films to music and medical formulae. In an open world, we would pay innovators
and creators more and more fairly, using market-driven remuneration rights in place of intellectual
property monopoly rights. As they have improved, digital technologies have taken on ever more
of the tasks that humans used to do, from manufacturing cars to scheduling appointments. And
in the next few decades, artificial intelligence may well be not only driving our cars for us but
drafting legal contracts and performing surgery. On the face of it, we have much to gain if machines
can spare us tedious or routine tasks and perform them with greater accuracy. The danger, though,
is that robots run on information-software, data algorithms and at present the ownership of this
sort of information is unequal. And because it is protected by our closed system of intellectual
property rights.

Sub questions

Question Number : 11 Question Id : 91394311314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How will an open world function ?

Options:
Grgs pa With limited choices

Information is available to everyone
91394344442 \

91394344445, Information is exclusive



:-’ - - 2 ,’ -l1 . " "
o, Information is controlled

Question Number : 12 Question Id : 91394311315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Which of these characteristics of a closed world ?
a) Concentration in power and wealth increases.
b) Innovation is controlled.
c)  Only the rich have access to medicines.

(

(

(

(d) Freedom is manipulated.

(e) Information is shared by all.
(

f)  Creativity is recognised.

Options:

(c) and (d)

9123345444445, (a)" (b),

91394344446, (b), (¢), (d) and (e)
91394344447, (€), (d), (e) and (f)

91394344443 (d), (e), (f) and (a)

Question Number : 13 Question Id : 91394311316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the status of intellectual property rights in an open world ?
Options:
a1594344a49 1 NEY are monopoly rights

S e Medical formulae are restricted

Replaced by remuneration rights
91394344451, ’

Protected proprietorial rights
91394344452,

Question Number : 14 Question Id : 91394311317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

What is the impact of digital technologies on the present day world ?

Options:
.y - 5 - » 5 L % 1I -
1394344453 —reativity is sidelined.

__ Mechanical accuracy is distorted

T'edious tasks see an upward trend.
91394344455,

Human tasks are performed by machines.
91394344456 y

Question Number : 15 Question Id : 91394311318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The crux of the passage contains the following statements :

(a) Digital technology is dangerous.

(b)  Those who own information will own the future.

(c) Artificial intelligence will do the human tasks.

(d) Monopoly of digital technology has led to unequal ownership of information.
(

e) Intellectual property rights should be protected in an open world.

Options:

(a), (b) and (c)

91334544457,

(b), (c) and (d)

91334544458,

(c), (d) and (e)

215394244459

(e) and (a)

91394344460, (d)’

Question Id : 91394311313 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Correct Marks: 2 Wrong Marks: O
Uk Had a1 il w1 ROl ?

Options:

Hifad fasedi & 919

215394244441,

g1 Tkl YT Erfl

91334544447,

=1 fafere Al & are g

91394544443,

L eRERIECEI

91334544444,
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Correct Marks: 2 WrongMarks: 0



s Hod g1 &1 41 faviad €2
a) vIfe 3R & H1 FHeElhL |
b) Tar=r fwifa S e

d) TG SA-HIfed Bl € |

e)  HE TR AT T3 H € |

f)  TEATCHAl i WTHd arl ¢ |

Options:

(a), (b), (c) 3R (d)

91334544445,

(b), (c), (d) 3 (e)

21594244448,

(0), (d), (e) 3T (6)

91334544447,

(d), (e), (f) 3R (a)

91334544445,

Question Number : 13 Question Id : 91394311316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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Options:

d TR RIS SAfIHR 21 §

91334544445,

Fafercia 9 ae Hifad Ted 2l ©

91334544450,

uifartes AR grn gfqeerud

91334544451,

OIferd e 3fYaFR

91334544452,

Question Number : 14 Question Id : 91394311317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:
91394344453 THTCHRl SUferd Bl € 1
41394344454, h Gl ﬁ% Bl g

Sifec Sl H =gl ol ¢
91394344455,

9T AT S Hrfed % § |
91394344458,

Question Number : 15 Question Id : 91394311318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a), (b) 3R (c)

912334544457,

(b), (c) 3R (d)

91334544455,

(©), (d) 3R (e)

91334544459,

(d), (e) 3R (a)

91334544460,

Sub-Section Number: 3
Sub-Section Id: 913943575
Question Shuffling Allowed : Yes



Question Number : 16 Question Id : 91394311319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

In verbal communication, words act as :

Options:

91394344461 Fillers

o1394344465 LECOTatives

Svmbols
91394344463, -

?assive barriers
91394344464,

Question Number : 16 Question Id : 91394311319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

T T

91334544461
913345444672,

Hhdah

91334544463,

_ﬁf&mmﬁw

91234544464

Question Number : 17 Question Id : 91394311320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Modern educational communication is described as :
Options:
Teleologic
91394344465, leleologic

Non-distributive
91394244466,

Un-approximate
91394344467



T'elescopic
91394344468,

Question Number : 17 Question Id : 91394311320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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Options:
R
TSI
91394344465.
91394344466, TR-famEoe

YR

91334544467,

WTW'
2915334244485,

Question Number : 18 Question Id : 91394311321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication would help students internalise :

(a) Knowledge (b)  Subject matter

(c) Articulation (d) Language felicity

(e)  Non-responsiveness (f)  Modalities of resistance
Code :

Options:

(c) and (d)

91394344469, (a), (b)’

(d) and (e)

91234544470, (b)’ (L) !

91394344471, (©), (d), (e) and (f)

(a), (d), (e) and (f)

91334544472,

Question Number : 18 Question Id : 91394311321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a), (b), (c) 3R (d)

91234544463,

(b), (c), (d) 3T (e)

91334544470,

(0), (d), (e) 3R (f)

91334544471,

(a), (d), (e) 3T (f)

9153394244472

Question Number : 19 Question Id : 91394311322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The challenging behaviours of students as related to communication are :

(a) purposive challenges (b) critical challenges

(c) procedural challenges (d) evaluation challenges
(e) practicality challenges (f)  power challenges
Code :

Options:

91394344473, (@) (0)..{6) and {d)

S (b), (¢), (d) and (f)

91394344475 (€), (d), (e) and (f)

(d), (e), (f) and (a)

91334544476,

Question Number : 19 Question Id : 91394311322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (b), (c) 3R (d)

291594244473,

(b), (c), (d) 3T ()

91334544474,

91394344475, (9), (d), (e) S ()

(d), (e), () 3R (a)

91334544476,

Question Number : 20 Question Id : 91394311323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Classroom communication has a basis in :
Options:

Audience fraementation
91394344477, o/ %

T Non-informative cues

10N diversio
913943444795, Attention diversion

L Intensive listener focus

Question Number : 20 Question Id : 91394311323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
eI FIOT T SATER T

Options:

CIGINEREEE!

2915334244477,



-G Hohd
91594244475,

91334544473, IR RERNE

91394344480, ATl 1 T HehgUl

Question Number : 21 Question Id : 91394311324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If FACE is coded as HCEG, then the code for HIGH will be :

Options:

291594244451, BEFB

91234544452, ZXYZ

91334544453, KHIK

| K1J
91394344484, -

Question Number : 21 Question Id : 91394311324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ife FACE &1 HCEG & &4 H FZasg foan Sra1 2, d HIGH & fog 2 30 2 ?

Options:

21594244451, BLI'B

91334544452, LXYL

KHIK
91394344483

NY
91334544454, - g

Question Number : 22 Question Id : 91394311325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next number in the series 12, 15, 21, 33, 57 15

S SR S e

Options:



91334544455, 93

107
91394344486,

97
91394344487

91334544455, 105

Question Number : 22 Question Id : 91394311325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
12, 15, 21, 33, 57 &l S@ H 3Tl 3{h 21 :
Options:

91234544455,

91334544456,

97
91394344487

105
91394344488,

Question Number : 23 Question Id : 91394311326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The next term in the letter series DY, | X, OW, SV, VU, 18
Options:

91394344489, YV VY

91234544430, X1

91334544451, XS

913345444392, Yl

Question Number : 23 Question Id : 91394311326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

aul s DY, JX, OW, SV, VU H 37TeT 92 8 -



Options:

2915334244459, WA

91334544430, Al

913345444391, XS

YT
91394344492

Question Number : 24 Question Id : 91394311327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of these words is different from the rest ?

Options:

Tall

913345444593,

Huge
91394344494,

291594244495, [hin

Sharp
91394344496,

Question Number : 24 Question Id : 91394311327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
feu v wi=gi # fawq 9= ¥
Options:

+

SEll
913943444975,

IEEUI]

913345444394,

291594244495,

eI

215942444596,

Question Number : 25 Question Id : 91394311328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ram said to Shyam, “That girl playing with the doll, is the younger of the two daughters of
my father’s wife”.

How is the girl playing with the doll is related to Ram ?

Options:
91394544497 Sister

913345444395, Aun t}

Sister-in-law
91394344499,

91394344500, —OUSIN

Question Number : 25 Question Id : 91394311328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 3 v e, A e S e § W T, W w5 ueh w5t G e
TFedl % WY Tor aTel dgh! T8 9 Y Hefdd g7

Options:

ELS

91334544457,

S Gl

91334544435,

qrei

9153394244499

EELIEES!

91334544500,

Question Number : 26 Question Id : 91394311329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following instances, deductive argument is invalid ?
Options:
o1304344501 VY REN its premises and conclusion are all false.

) 1 I..‘ - .I.1 I.‘ % } % I.“ 1 C C -
1504344500 YV DEN its premises and conclusion are all true

When its premises are true but conclusion is false.
91394344503,



When its premises are false and conclusion is true.
913943244504,

Question Number : 26 Question Id : 91394311329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
freafefad § 9 forg 3eeeo o frmoemens qa /a9y 772

Options:

9 THE MR F AR Frepd gt 7o €

91334544501,

9 39 SR 91 AR ek 9aft TE 21

91334544502,

S| 9 YR 91 9l § 9 ekt Terd 2|

2153942445035,

ST 9 YR 91 TTard & qig e 92 € |

91334544504,

Question Number : 27 Question Id : 91394311330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The reasoning which would be helpful in seeking new knowledge of facts about the world
IS :

Options:

Demonstrative
91394544505,

Deductive
913943445086,

Inductive
913943244507,

Speculative
91394344508,

Question Number : 27 Question Id : 91394311330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fava o Hdg ¥ qedi 1 991 IH U 9 4 AEAfatad § 9 sE-91 96 98heE 2n 2

Options:

91334544505,



91334544508,

HMTHATHh
91394344507

2915942445085, 1

Question Number : 28 Question Id : 91394311331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them (taking singly or
together). Which of the following conclusions could be validly drawn from the premises ?
Premises : (i)  All cats are animals.
(i)  Birds are not cats.
Conclusions : (a) Birds are not animals.
(b)  Cats are not Birds.
(c) All animals are cats.
(d) Some animals are cats.
Select the correct answer from the code given below :
Code :
Options:

(a), (b) and (d)

91334544509,

(b) and (d)

2915334244510,

(a) and (c)

91334544511,

(b), (¢) and (d)

9133454451%2.

Question Number : 28 Question Id : 91394311331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I <1 3MYR JreEi o feeTel U fsnul (Tehe 91 weey) 9fgd 9 €1 suR feu ¥ f=fatag §
H FH 9 ford SR 9 @ 99 ®9 9 et T €2

mam AT (i) =i fafeeal Sar €

(ii)  defi fafoerar =& € |
P < (a) T&f ST TE B |

(b) Tafcorar vefl & €|

(c) Tl SR fafeeal € |

(d) F IR fafeeat 1
he :
Options:
s1394344500 (&) (b) AR (d)
91394344510, (b) aﬂ-{(d)
91394344511, @) R ()

(b), (¢) 3T (d)

91394344512,

Question Number : 29 Question Id : 91394311332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from :
Options:

Particulars to Particulars
91394344513,

VAN CRAL I s g
1304344514 Larticulars to Universals

. . o 1
L L " h
T — Universals to Particulars

Universals to Universals
91394344516,

Question Number : 29 Question Id : 91394311332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATTHATHF Tk 1 AR SE 211 € ¢



Options:

 fordre & o

21394244513

| 99 9 =19

91334544514

21594244515, IRE @ [ lll [

91334544516, M ﬁ A

Question Number : 30 Question Id : 91394311333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following statements, two are contradictory to each other.

Statements :

(a) All men are humans.

(b) Some men are humans.

() Some men are not humans.
(d) No men are humans.

Select the code that represents them :
Code :

Options:

(a) and (b)

91334544517,

and (d)

913345445185, (El)

(a) and (c)

91234544519,

(b) and (¢)

91334544520,

Question Number : 30 Question Id : 91394311333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frfafEd &1 9 T g8 & fausHt €1
chdH :

(a) 94 ¥Y A T |

(b) FS TEW WA €|

() FS I%Y HFE T ¢ |

(d) TS JEY HFE T ¢ |

39 T 1 =TI HL S SR Hidrreed HLdl §
che

Options:

(a) 3R (b)

91334544517,

(a) 3R (d)

91334544518,

(a) 3TR ()

91334544519,

(b) &R (0)

9153394244520,

Sub-Section Number: 4
Sub-Section 1d: 913943576
Question Shuffling Allowed : Yes

Question Id : 91394311334 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension



Subject Total Number of | Number of | Maximuny
number of | students students | Full marks
students |who passed| who failed in the
appeared subject
English 600 - 36 600
Mathematics - 240 60 -
Science 300 216 - 400
Social Studies 360 - 48 400
Computer - 168 32 400

Study the table given above carefully. It shows the number of students appeared, passed
and failed in five subjects. The full marks in each subject is also given.

Some of the cells have missing data. You might need to determine some of the missing data
to answer the questions below.

Sub questions

Question Number : 31 Question Id : 91394311335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following could be the full marks in Mathematics if the pass marks in Mathematics
was 35% and the person who just passed scored 70 ?

Options:

400

21594244521,

91334544522, 500

91334544523, 600

i,
91334544524, 200

Question Number : 32 Question Id : 91394311336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the maximum marks that a student can score in all the five subjects together ?
(You may use the answer of the previous question.)

Options:

91394344525, 2OV

91394344526, 10OV
1500

91334544527,



2000

9153394244525,

Question Number : 33 Question Id : 91394311337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the difference between the number of failed students in Science and the number of
passed in Social Studies ?

Options:

28
91394344529

J
&%
oo

91334544530,

r-.l.]
e
J

913345445351,

2
91394344532, — 18

Question Number : 34 Question Id : 91394311338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the approximate difference in percentage between the pass % in Social Studies and
the pass % in Mathematics ?

Options:

2.5%

912334544533,

6.5%
91394344534

16.5%
91394344535,

26.5%
91394344536, 26.2%

Question Number : 35 Question Id : 91394311339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which subject, was the failure percent the least ?

Options:

English
91394344537, >

Mathematics
91394344538,



Science
91394344539,

Social Studies
91394344540

Question Id : 91394311334 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fawa | ol SHETel | 3Tl EFdTel | Al oEl | faua o
el HeEAT A
AU 600 : 36 600
T ] 240 60 _
[EEIR] 300 216 ] 400
TS AT 360 = 48 400
H : 168 32 400

ST Ifciehl o1 SAMYES Ui | THE qr9 foudi i wie Same, S8 S iR ST arare
faenfei=i =1 gwitan T ¥ 1 v fau ¥ e of off faw e #)

FS HISH! H S Tal ¢ | A9 U T gwHi F IW T F HH A AR SIS AFS| FT ATHR
FHEAT IS Hhal ¢

Sub questions

Question Number : 31 Question Id : 91394311335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fe 7o =1 SevIieh 35% o1 3R UH SAfad =l i M0 H hiad 3401 gU UTdish 70 &1 o 107 61
qUTish ST 917

Options:

91334544521,

913345445272,
91334544523,

91334544524,



Question Number : 32 Question Id : 91394311336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tft ure fawdi § foranedf sifeeran foraa ofe U &2 ¥ehd €27 (379 fTsel 99 % 30 1 39
T 1)

Options:

500

9153394244525,

912334544526, 1000

1500

2913394244527,

91334544528, 2000

Question Number : 33 Question Id : 91394311337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foam o ST 3R TaTST 315ma B 390 erarel faenfaai # foran i &2

Options:

228

215394244529,

-2
4%
oo

91234544520,

T
o
I~J

91394544521,

913345445372,

Question Number : 34 Question Id : 91394311338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

THTS 37T ST Tford § Sirofar gfdera ®§ oy fopda ufderd o1 sfae &2

Options:
2 5%
91394244533, <. /o
5%
291394244534,
2%

9153394244555,



26.5%
91394344536,

Question Number : 35 Question Id : 91394311339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fopy faog d 701 219 o1 Giaerd ey &Y 91?2

Options:

EPE]

912334544537,

T

9153394244555,

[EEIE!

91334544539,

O 3ASEH
291394244540, S

Sub-Section Number: 5
Sub-Section Id: 913943577
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394311340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Full form of PDF is:
Options:
) 5 - t
. =l i -
01294344541 Portable Document Format

2ort: a2 F )
rtable Data Fo
O rtable Data Format

Portable Document Form
91394344543,

Portable Data Form
913943244544,

Question Number : 36 Question Id : 91394311340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST 1 YU &Y T :

Options:



_ti‘réﬁrﬁ‘e”ﬁ?{ﬁ?" 2 HHe

291394244541

e el il

91334544542

. T ‘ ‘[Fﬁ

91334544543

[

Uledc] <21 g

913394544544,

Question Number : 37 Question Id : 91394311341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A Terabyte is equal to :

Options:

S W AGabaitaa
91394344545, 1024 Megabytes

41394344546, 1024 Gigabytes

91394344547 1024 x 1024 Kilobytes

1024 Kilobytes
91394344548, -

Question Number : 37 Question Id : 91394311341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U @RS fFEE S 72
Options:
1024 HTETEZH

91334544545

1024 TETEEH

91334544546

102 )24 [:GEE#IEIIQEH
91394344547 028 = 104 i
1024 feraramgey

2913394244548

Question Number : 38 Question Id : 91394311342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
The binary equivalent of (—23),51s (2's complement system for negative numbers is used) :
Options:

91394344549 L0111

91334544550, 01001

91334544551, 01010

9133454455%2. 01000

Question Number : 38 Question Id : 91394311342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(—23);o 1 T T (ST Slaaacie) T (2's FArde Womell 1 FanT KR Hemsti & fau
P ®) :

Options:

10111
91394344549

01001
91394344550,

01010
91394344551

01000
91394344552

Question Number : 39 Question Id : 91394311343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

DNS stands for :

Options:
01394344553 Domain Name Standard

Jomai : Sy
A — Domain Name System

Distributed Name Svstem
91394344555, :

} rd - z = af B8 4
91394344556, Dynamic Name Standard



Question Number : 39 Question Id : 91394311343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LT, & Y ©
Options:

91394344553, S 90 e

2 3w e

2915394244554

91394344555, ﬁ"’@ﬁﬁ_g a9 fa=q
T T EeE

91334544556

Question Number : 40 Question Id : 91394311344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the given statements are true ?

(a) Modem is a Networking device.

(b) Modem is a Voltage stabilizer.

(c) Modem converts analogue signal to digital signal and vice-versa.
Code :

Options:

(a) and (b)

2915334244557,

(b) and (c)

91334544558,

(a) and (c)

91334544559,

(a), (b) and (c)

9153394244560,

Question Number : 40 Question Id : 91394311344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feifera & 9 ®H-9 Fu9 W8 €2
(a) HTSH ek A2afehtl Jfer gl

(b) TISH TF dees LfaeEsn ¢
(c) HISH T Hohd 1 fefSea Haa § iR fefSea H&d &l @ dod d =g ¢ |

Options:

(a) 3R (b)

91394544557,

(b) 3R (¢)

291594244555,

(a) 3R ()

91334544559,

(a), (b) 3T (c)

91234544560,

Question Number : 41 Question Id : 91394311345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following industries, consumes maximum water in India ?
Options:
s1304344561, CDSINEEINgG

913345445672, lextiles

Thermal power plants
91394344563,

Paper and pul
91394344564, P PR

Question Number : 41 Question Id : 91394311345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ard § faefafaa § 9 fovg 38m § 9o &1 3ifuesdy @ud 2l €2

Options:

EEUERIE

91334544561,



95

9153394244562,

GILAEEGRSEE
913942344563,

HTTS SR el

91334544564,

Question Number : 42 Question Id : 91394311346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Plants suitable for biomonitoring of Sulphur Dioxide pollution are :
Options:

White pine, moss and lichens
91394344565,

01394344566 1 0mato and lettuce

T — ['obacco, grapes and garden bean

Apricot, peach and gladiolus
91394344568,

Question Number : 42 Question Id : 91394311346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T SBIFTREE U i Sa- TR & o 3uged ey €

Options:

| vod GagR, & 3R IaETF

91334544565

= [a
91394344566, NN 3R THeR Hesl

T, SR SR &1 WY

912334544567,

Tfepie (3TERe), 31g 3R Tafesled

91334544568,

Question Number : 43 Question Id : 91394311347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
An earthquake is rated as ‘major’ if its magnitude in Richter Scale is in the range of :

Options:



91394344569
91394344570. 2.0 - 9.9
o1394344571, OV - 0.9
a1394344572. /-0 =79

Question Number : 43 Question Id : 91394311347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I &1 TS’ YT T I el & SN € Afe et T W eHeE guE T a3 § 2 ©
Options:

4.0 9 4.9

2915394244569,

912334544570, 2.0 ﬁ 2.9

6.0 9 6.9
91294244571

70" 7.9
Q1294244572

Question Number : 44 Question Id : 91394311348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The biggest hindrance in using biomass as a major energy source is :
Options:
o1594344575 L echnology not well developed for commercialisation.

Energy yield of low level.
91394344574, S

Laree amount of land required to erow enerevy crops.
)
491394344575, o o /

ir po 10 y combuston.
ST e Air Et.ﬂutu n due to combustion

Question Number : 44 Question Id : 91394311348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR %1 U TG Fsl 9id o 9§ JI0 F § oIy 927 o191 ¢

Options:

 SfUrETeRT % fere drEifieRt geehtd TE 7

21394244573

A TR Sl 3 Bl 2|

91334544574

Hel-TEd I o fou agd Ao Y 1 Aeaedehd 9edil ¢ |
915942344575 3

T % THIOT 1Y JEUU &l ¢ |

91394544576

Question Number : 45 Question Id : 91394311349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Climate change is going to increase social tension in India.

Reason (R) : The frequency and intensity of the extreme weather events will have serious
consequences for food security.
Code :
Options:
) correc D 10N o :
150434457, DO (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A).
91394344578,
1304344575 (A) Is true, but (R) is false.
(A) is false, but (R) is true.
91394344580,

Question Number : 45 Question Id : 91394311349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AfUmeH (A) :  STAarg IRadT YRd H HrHTfsieh T1e S |
T (R) : e &1 =9 ferfa 1 g SR died 1 @ g 92 19R g9 92|
<

Options:

(A) 3R (R) SF1 T&l € 3R (R), (A) I Tel =30 2|

2915334244577,

(A) 3T (R) M1 T&l € 31T (R), (A) T Tel =0 e € |

912334544578,



(A) & &, T (R) TTord B

913394544573,

(A) Tord B, T (R) &1 71

91394544580,

Question Number : 46 Question Id : 91394311350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The first Open University established in India is :
Options:
ST Yashwantrao Chavan Maharashtra Open University, Nasik

'] s T =
41394344555 Nalanda O[. eIl U['l.l'.VE'I":lt} i Pata

1394344553 Dhim Rao Ambedkar Open University, Hyderabad

Tamil Nadu Open University, Chennai
91394344584, :

Question Number : 46 Question Id : 91394311350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IR H T Jeen Yo favafaad

Options:

9153942445851,

qredar g favafaame™, e

215394244582,

i T feeat gad favafaaned, geuEm
91594344555,

Gl GEIER ESRCECIERIGE!
Q1294244584 ’ %[f:’[

Question Number : 47 Question Id : 91394311351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In 1948, under whose Chairmanship a University Education Commission was set up to
reconstruct University Education in India ?

Options:



5 711 2 .
T — Sardar Vallabh Bhai Patel

3 5 3 Tl .
9139434486, L TOf- P.C. Joshi

Dr. S. Radhakrishnan
91394344587,

Dr. Vikram Sarabhai
91394344588,

Question Number : 47 Question Id : 91394311351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

a9 1948 H 9Rd H favafaarera foen &t qrdeaa & fou fegst stsea § v favafaamerg faen

SATIRT T T &1 ?

Options:
el gody Y9 9ed

9153394244585,

1. di.E. S

912324544586,

€. TH. THUIH9H

91334544587,

21, fasha gruE

91234544558,

Question Number : 48 Question Id : 91394311352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

University and University-level institutions are categorised into :

(a) Central Universities

(c)  Private Universities

(e) Institutions of Higher Learning
Code :

Options:

1304344550, (&) (€), () and (f)
91394344530, (b), (d), (e) and (f)

(a), (b), (c) and (d)

913345445391,

(b) State Universities
(d) Deemed-to-be Universities

(f)  Civil Sector Institutions



91394344592, (), (d), (e) and (f)

Question Number : 48 Question Id : 91394311352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forvafaarer iR favafoae™ &R & i &1 feifea § § /g 4o § w@ S €2
(a) ke favafaamer (b) T favafaame™

IEEIRELEIEBIGE (d) wId faafeeme

TR o1 HeH () Tofae e g

C

()
(e)

o< :

Options:

(a), (), (e) 3R (f)

91334544559,

(b), (d), (e) 3 (f)

912334544530,

(a), (b), (c) 3 (d)

91394544591,

(c), (d), (e) 3R (f)

91334544592,

Question Number : 49 Question Id : 91394311353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“e-Pathshala” is an initiative by :
Options:

91334544553, UGC

91334544594, CBSE

NCERT

9153342445395,

913345445396, NCIE

Question Number : 49 Question Id : 91394311353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“E_argmen’’ TREel TBd B2




Options:

I SLEL (UGC)

912334544593,

.81 uH.E. (CBSE)

91234544594,

THLE AR (NCERT)

91334544535,

TEL.EE. (NCTE)

91394544596,

Question Number : 50 Question Id : 91394311354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Council of Rural Institutes Authority is situated at :
Options:

sisssniss: Ladhiana

Ahmedabad
91394344598,

b
91334544599, Pune

Hyvderabad
91394344600, -

Question Number : 50 Question Id : 91394311354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THTOT HET WIeRTo] 9iee el feerd 82

Options:

91334544597, I

91334544598,

91234544599, g

91334544600,
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Group Number : 2

Group Id: 913943150
Group Maximum Duration : 120
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Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 200
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Section Id : 913943150
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Question Number : 51 Question Id : 91394311355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List [l and choose the correct answer from the code
given below.

List I List II
(a) Shaktibhadra (i} Murari
(b) Taptisarmmvarna (ii) Sri Harsha
(c) Anargharaghava (iii) Ascharya Chudamani
(d) Nagananda (iv) Kulasekhar Verman

Code :
Options:
91394344601 @~0: B)-GD), (@-(iD, (@)-({v)
91294344607 {3.]—{[[], {h]_{l]s {'c]_{“lr]:- {d]_{lll]
91394344603, (a)—(iv), (b)-(iii), (c)-(ii), (d)-(1)

91394344604 @D (0I=(), (0)-(), (d)-(1)



Question Number : 51 Question Id : 91394311355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et 16wl g R wgl @ frem i st A= fe e e | @ wdt s g
|1 | 11

(a) wffwg ONE

(b) e (ii) off zd

(c) aprerer (i) ryerd grwfin

(d) FmTrg (iv) Waﬂ#
He:
Options:
01394544601 @D (B)=(iD), (0D, (d)-(iv)
91394344602, @~ (0)-), (0)-(w), (d)-(i)
91394344603 @0} ()-(iD), (-0, (d)-)
1504544604 @D 0=, @©-0), (-G

Question Number : 52 Question Id : 91394311356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Polish director Jerzy Grotowski believes that theatre can only survive the
electronic age by emphasizing what makes theatre different i.e. direct
interaction between actor and audience.

Reason (R) :  According to him, Director should create a unified stage picture.

Options:

(A) is true, but (R) is false.
915942344605,

Both (A) and (R) are true.
215942344606,

Both (A) and (R) are false.
91294344607

(A) is false, but (R) is true.
91594344605,

Question Number : 52 Question Id : 91394311356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fr= gt #oe fog o E, o @ vs aifir (A) ® o gmo 7 (R) B | o #t afgu sft i feg g
&e H T4 F T I A |
e (A) : Grde % P wof gidaeh 1w & f O it g § ot e fSr
T Td HhdT &, 99 98 38 W 99 ¢ T S <3 o 6t fim =1t 8, S
o arfirren aft gefet it < areafos fomm |

T (R) : I gan Frdees =t wafen v faa &1 gom s =nfee )
Options:

A ' R)T&Ed & |
91234544605, W IR ¢

91234544606, () 3 @) F1 7 E

91334544607, (A 3 () 3R e & |

A) Teid &, R |
91334544608, W ¢ e ALk

Question Number : 53 Question Id : 91394311357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct sequence of the following Theatre Personalities in context of their countries
of origin from North to South :

Options:

Robert Lepage, Robert Wilson, Guillermo Gémez-Pefia, Augusto Boal
215394244609,

Robert Wilson, Robert Lepage, Augusto Boal, Guillermo Gémez-Pefia
21594244610,

Augusto Boal, Guillermo Gémez-Pefia, Robert Lepage, Robert Wilson
Q1394244511

Guillermo Gomez-Pefia, Robert Wilson, Augusto Boal, Robert Lepage
Q13942344812

Question Number : 53 Question Id : 91394311357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ure Ht Frafafaa efemt # 3o @ e 393 qa <o & gl ° oft s 9 g

Options:

tad fortrs, e faeem, Tt Mg, st stera
91394344609,

Tad forewm, e fortar, apmeat siter, TTeret -
915942344610,



FTE! |3, Ter! T, Tad foe, dad faea
91394344611,

T M-, ol faeem, smreat dtera, Tl fods
91394344612,

Question Number : 54 Question Id : 91394311358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Trace the odd one :

Options:
Tripurari Sharma
91394344613,
91394344614, oshan Alkazi
91394344615, urti Verma
Dolly Ahluwalia
91394344616,

Question Number : 54 Question Id : 91394311358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fern =51 =7 ifso .

Options:

Frgurfe s
91394344613,
91394344614, T S
91394344815, bt =t

gieft STaeEtTiorat
91394344616,

Question Number : 55 Question Id : 91394311359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Reed musical instrument used in accompanied songs of Dance Drama music of Laos is
Options:

91394344617, nen



91394344618, KO

91394344619, okan

91394344620, Orawa

Question Number : 55 Question Id : 91394311359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A % Teq e & al & wry wygad e o aren fearg &
Options:

91234544617, &

912334544615,

291594244819,

91334544620,

Question Number : 56 Question Id : 91394311360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the items of List [ with the items of List [l and choose the correct answer from the code
given below.

List 1 List II
(a) Eugeno Barba (i} Theatre Libre
(b) Richard Schechner (ii) Invisible Theatre
(c) Andre Anroine (iii) Performance Theory
(d) Augusto Boal (iv) Theatre Anthropology

Code :
Options:
913943244621 (a)—(iv), (b)-=(iii), (c)-(i), (d)—(ii)

91394344600 @70, (B)-(D), (=D, (d)-(iv)

91394344603, (a)—(iii), (b)-(iv), (c)-(ii), (d)-(i)

015394344604 @0, 0)=(D, (©)-(ii), (d)-()



Question Number : 56 Question Id : 91394311360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et 16wl g R wgl @ frem i st A= fe e e | @ wdt s g
|1 | 11

@ a0 fde B

(b) frad Tt (i) sfafme fide

(¢) a1 sfeai (iii) Tepti=g

(d) srmeqt stor (V) Forder woirersh

He:
Options:
913943446821, (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
91394344622, 0 (0)=(D, (A=(1), (@)~(v)
91394344603 {a-]_{u-l]s (b]—{lﬂ, {c]—{u]’ {d]—{l]
5913945344624 {a-]_{ﬂl"]:- {b]_{u], {c]—{m]’ {d]—{l]

Question Number : 57 Question Id : 91394311361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Stanislavski holds that ‘Art begins when there is no role, when there is only
the “I" ",

Reason (R):  The product of the sublimation of ‘if I into T’ is a state of unperturbed
veracity-in-fiction, ‘to be’.

Options:

Both (A) and (R) are true.
91394244625,

(A) is true, burt (R) is false.
1294244626,

Both (A) and (R) are false.
913943244627,

(A) is false, but (R) is true.
913294244628,

Question Number : 57 Question Id : 91394311361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fr= gt #oe fog o E, o @ vs aifir (A) ® o gmo 7 (R) B | o #t afgu sft i feg g

&e H T4 F T I A |

HfirpET (A) : TEeTasht 1 oA & 6 ‘e a9 T gt ®, 9 i it T g, smtE Fae
uﬁ‘um% l‘l

% (R) : “afg & o F F afsrn 817 % wereaey Afiar 5 B sargerar Taa el s s
gl msrm el g ar mafE a2 |

Options:

912334544625, (W) 3 ) F1 7 E

A R R) Meid & |
91334544626, W TIm® t

2153394244827, (W) 3fiC (R) 2 7 §

A) Teid &, R |
91234544625, W § 3¢ Al

Question Number : 58 Question Id : 91394311362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct sequence of the following organizations according to their geographical
locations from South to North :

Options:

Ninasam, Indian Foundation of Arts, Darpana Academy of Performing Arts, The Company
91394244623,

The Company, Darpana Academy of Performing Arts, Ninasam, Indian Foundation of Arts
913342446830,

The Company, Ninasam, Darpana Academy of Performing Arts, Indian Foundation of Arts
91394244631,

The Company, Indian Foundation of Arts, Darpana Academy of Performing Arts, Ninasam
91394344632,

Question Number : 58 Question Id : 91394311362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefefiaa dmeat w1 gfem & ae it i 39 Wimiforss sl & srgam w8 w0 9f

Options:

Hrarem, feaa wEeTE WAfw % et et
91394344629, , S EE, T v éH, 3

91394344630, 3 FFA, T e S R e, e, R weee i i



o13945ad631, O T T, T QS Sif TR ST, e PRSI A6 AH

91394344632, 3 e, e IS oA A, T wheHt A W e, S

Question Number : 59 Question Id : 91394311363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the odd one out in the context of the regional origin :
Options:
Peking Opera
91334544633,

91394344634, |avBol

91394344635, Mere-Moro

91394344636, on

Question Number : 59 Question Id : 91394311363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
2rfra g ¥ ded & faem # gfi
Options:

91234544633,

91334544634,

91234544635,

H91334544E3E6,

Question Number : 60 Question Id : 91394311364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gruiterte i sraaren Tad vee fras seqd 6 off 2

Options:

g @ige

91334544637,



EIEED
91334544635, =

rae
91234544639,

wfiaTed

91334544640,

Question Number : 60 Question Id : 91394311364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of sadharanikarana was first given by

Options:

91394344637, hat Lollata

Bhatt Nayaka
91334544638,

91394344639, -0 Shankuka

Abhinaveupta
91394244840, P

Question Number : 61 Question Id : 91394311365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List [l and choose the correct answer from the code
given below.

List 1 List I1

(a) The relative lightness or (i} Tone
darkness of colour

(b) A colour with a high value (ii) Shade
(c) A colour with a low value (iii) Tint
(d) A colour of middle value (iv) Value

Code :
Options:
91394344641 (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

91394344542 {3.]—{[[], {b]_{“r]’ {C]—{I,], {d]_{llﬂ

91394344643 (a)-(i), (b)-(iii), (c)-(ii), (d)—(iv)

591394344644 (a)-(iv), (b)-(iii), (c)—(ii), (d)-(i)



Question Number : 61 Question Id : 91394311365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1R me o gt 1 el © firema Aifv sit e fog o e F @ adt amowt g

el 1 v

(b) 3= o = (i) e

(c) Fony aftmmon =61 4 (i) =

(d) mey qfmmmo 1 (iv) aﬂ

T :
Options:
91594544641 0D, (0)=(D), (©-(), (d)-()
91394344642 @~ (B)=(), (0-(), (d)-(iD
91594344645 @0, (B)-GiD), ()-(iD), (d)-(iv)
91394344644 @701 ()0, (-0, (d)-()

Question Number : 62 Question Id : 91394311366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : According to Prasanna “Theatre is not real. Nothing that happens on stage is
real. A person who dies on stage is not actually dead; love on stage is not
enduring, a marriage on the stage is not valid....”

Reason (R) : In this sense, theatre is unreal.
Code :
Options:
(A) is true, but (R) is false.
91394344645,
(A) is false, but (R) is true.
912394344646,
Both (A) and (R) are true.
91394244647,
Both (A) and (R) are false.
9139434464858,

Question Number : 62 Question Id : 91394311366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Fr= 3t o fag e 8, fad @ v afirre (A) @ ffgan 7 (R) B | o it afen it = fag g
e H1 T4 F T I g |
ST (A) : W~ % STER ‘T aredfas 7@ a1 | W9 WA FO w1 8, 98 areatas Tal 8 |
T 9L WG are safad aredd § 81wt g9 w3 vt 1 dn; a9 @ faaw g
& gt L7

% (R) : 70 Ao ® T FeafaE |

Fe:
Options:

A ' R)T&Ed & |
912334544645, W W ¢

A) Tedd &, R |
91334544645, W 8 3¢ ALk

91394344547 W TR TRT

01394344645, N T T T T |

Question Number : 63 Question Id : 91394311367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Give the correct sequence in the context of geographical origin from north to south :

Options:

Bhagat, Bharud, Thaiyyam, Hagalu-Veshada Aata
91=94344549.

Bhagat, Bharud, Hagalu-Veshada Aata, Thaiyyam
91234544650,

Thaiyyam, Hagalu-Veshada Aata, Bhagat, Bharud
91334544651,

Hagalu-Veshada Aata, Bhagat, Bharud, Thaiyyam
91334544652,

Question Number : 63 Question Id : 91394311367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafeafiaa =1 3er @ gféqon i 3i 379 wivmifers 3gm < ded o oft 9 @y
Options:

91394344649,



ITd, WIES, e 31eT, dem
91394344650,

e, ETE-ATIE TS, WE, WTES
91394344651 T

H9IE HTEN, Hd, WiEs, dem
91394344652, ¥1g

Question Number : 64 Question Id : 91394311368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Pick the odd one our :
Options:

Avedhya
91294344653

Anguliva
913494344854 gulty

Aropya
Q1294244855 Py

Bandhaniya
91394344656,

Question Number : 64 Question Id : 91394311368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferem =1 w7 i

Options:

91334544653,

A

2915394244854,

91334544655,

91394544656, et

Question Number : 65 Question Id : 91394311369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term ‘Legitimate Theatre' means

Options:



The performance is approved by the State court.
91394344657,

The performance has a seal of approval on it.
91394244658,

The performance is about the legal system.
91334544659,

The performance has no musical numbers in it.
91334544660,

Question Number : 65 Question Id : 91394311369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘ffede faued gm w1 o34 2
Options:

el T4 =Arared g SFEifed g g |

H91334544657.

e sl W wfiela i diet @t gt 2

91334544655,

wredfa fafes yomeft 3 et &
91394344659, e e

91394344660, e segfa 3 s T AfeEfe T e |

Question Number : 66 Question Id : 91394311370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the items of List [ with the items of List [l and choose the correct answer from the code
given below.

List I List 11
(a) Burnam Vana (i} Volpone
(b) Lomad Khan (ii) Macbeth
(c) Dash Chakra (iii) Great Peace
(d) Mahashanti (iv) An Enemy of the People

Code :
Options:
91394344661, 271 (B0, (=D, (D~(w)

91394344562, 7V (0I-(D, (9-(D), ()-0)



91394344663 {3-]_{]].[], (b]_{ﬂl’], {c]—(u]’ {d]_(l]

150434466 B0 0=, (©-(), (i)

Question Number : 66 Question Id : 91394311370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

et 1wl g 0 R wgl @ frem fifve ot A= fae e e | @ wdt g g

@‘I @II

@ w7 O ded

(b) g WM ) A2

(©) 7w =% (i) 3z g

{d}ﬂ'ém'iﬁf (lvj'@mmam

e
Options:
1304544661 @D, B)~(i), (0D, (d)-(iv)
91594544650 @70, (0)=(iD), (=), (d)-O)
91394344663, U (P)-(V), (O-(i), (d)-()
91394344664 @7 (B)-0), (0)=(iv), (d)-(iD)

Question Number : 67 Question Id : 91394311371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In Indian mythology, Lord Indra, the great divine warrior, is attributed to have
won all battles in favour of his worshippers.

Reason (R):  The manly power of Indra is irresistible and it is Soma who provides him with
energy for his mighty exploits.
Code :
Options:

(A) is true, but (R) is false.
91234544665,

(A) is false, but (R) is true.
2915334244866,



Both (A) and (R) are false.
913943244067,

Both (A) and (R) are true.
21394244668,

Question Number : 67 Question Id : 91394311371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= 3t %o fog e B, o @ us afireem (A) @ offtgmn 7% (R) B | o w1 afen afic = g g

Fe 1 T4 FTE I g |

firmerT (A) : W drufies sl § 98 I8 firea 2 f6 mem fesw g 35 39 3 1w ot
& vy # avft 4 e feam o

@ (R) : 3 it ey e srafadher ® sit 3o wusnpl Fet % for wim o8 et v
7

®e:
Options:

A ' R) Meid & |
91234544665, W Tm ¢

A) Teid &, R I
91334544666, @ t e ALk

91394344667, 3t (R) Tt Tt € |

9139434066 (N RN FE

Question Number : 68 Question Id : 91394311372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct sequence :
Options:

Utthapana, Nandi, Trigata, Prarocana
91:924344669.

Nandi, Trigata, Prarocana, Utthapana
Q129424467 0,

Trigata, Prarocana, Utthapana, Nandi
D1394244671.

Prarocana, Utthapana, Nandi, Trigata
G1Z94344E72,

Question Number : 68 Question Id : 91394311372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
aat A 1 =1 Hifa

Options:

91394344669,

91394344670,

913943446871,

91394344672,

Question Number : 69 Question Id : 91394311373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Pick the odd one our :
Options:

91394344673, |enrklbsen

91394344674, ' on Chekhov

91394344675, rehur Miller

51394344676, Maurice Maeterlinck

Question Number : 69 Question Id : 91394311373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefefas & @ fam 1 =9= $ifsm
Options:

T Fo8

2915334244673,

UEH J@te

91234544674,

H91334544E675,

21594244676,



Question Number : 70 Question Id : 91394311374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Commedia Del'Arte, the servants were known as

Options:

91394344677, 474
91394344675, 2l
91394344679, C0%4
91394344680, | O%4

Question Number : 70 Question Id : 91394311374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wiifen 2@ wd d, i it forg w0 0 ST ST 2 7

Options:

G|
21394244677,

B
21394244678,

Treeft
91394244679,

qreeit
91394244680,

Question Number : 71 Question Id : 91394311375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the items of List [ with the items of List [l and choose the correct answer from the code
given below.

List I List II
(a) Togalu Gombeyaata (i) Rod Puppet
(b) Sakhi-Kundhei Nata (ii) String Puppet
(c) Kathi-Kundhei-nach (iii) Shadow Puppet
(d) Pava Kathakali (iv) Glove Puppet

Code :

Options:

91394344651 @0 (0}-(), (@-(i), (d)-(D)



91334544652,

91234544653,

91234544654,

(a)-(ii), (b)-(1), (c)-(iv), (d)-(iii)

(a)-(iii), (b)-(i1), (c)-(1), (d)-(iv)

(a)-(iv), (b)-(iii), (c)-(ii), (d)—(1)

Question Number : 71 Question Id : 91394311375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1R me o gt gl & e i oit e fag o e F @ wdt s et g

qHET1

qHT 1L

(a) g e () We e
(b) metggg A (D f&gn v
(© #dtgeiaa (i) e v

(d) gran Fahet

e

Options:

912334544681,

215942448852,

91334544653,

91334544654,

Question Number :

(iv) et w2

(a)-(D), (b)—(iv), (c)-(iii), (d)-(ii)

(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(a)-(iii), (b)-(i1), (c)-(1), (d)-(iv)

(a)-(iv), (b)-(iii), (c)-(ii), (d)—(1)

72 Question Id : 91394311376 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) :

Reason (R) :

Code :

Options:

91334544655,

The Sanskrit drama always follows the principle of ‘unity of place’ for the action
of an act and never the principle of ‘unity of time’.

The dramatic action within an act sometimes happens at different places,
adjacent or near each other, or sometimes far removed from each other.
The action in act would not cover more than a single day.

Both (A) and (R) are true.

Yes



(A) is true, but (R) is false.
91334544656,

Both (A) and (R) are false.
Q1294344657

(A) is false, but (R) is true.
215942448858,

Question Number : 72 Question Id : 91394311376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr= 31wy fu e 8, o @ us atfirmem (A) R off qoo o (R) B | ol i afey ot = fqg g

Fe I TEM FHE I g |

iRy (A) : GEFa ek, s Ffga G % o g & e 6t af=f fagia &0 oem w5 2
o gad T i afafa’ % fagra =t it @ st s

T (R): U e | Arehr fm & A srmue % sy vhgEt o fee st 5 9w uwgEt
& w1t g vE fafi vl @ | ot Tifea e 1 s o fom @ arferss &t
|

ESE
Options:

91234544655, (W) 3 ) F1 7 E

A R R) Meid & |
91334544656, W W t

2915334244887, (W) 3fiC (R) 2 7 §

A) TTeTd &, R |
912334544655, ) § 3¢ Al

Question Number : 73 Question Id : 91394311377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pick up the correct sequence of the following plays in chronological order :
Options:

Medea, Twelfth Night, Accidental Death of an Anarchist, Hedda Gabler
Q91394244889

Medea, Twelfth Night, Hedda Gabler, Accidental Death of an Anarchist
Q1594244690

Twelfth Night, Hedda Gabler, Medea, Accidental Death of an Anarchist
Q15942446891



Medea, Hedda Gabler, Twelfth Night, Accidental Death of an Anarchist
Q13942344892

Question Number : 73 Question Id : 91394311377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiaa arest 1 wrewmgan aft w7 w1 557 fifw

Options:

Hifean, zaea Trge, wwdfided 2y e W il 2@ faen

91334544659,

ifean, gaeay Arge, 29 Taor, Twiidea 39 A% W wfER

215942446390,

ZdeHy AT5e, BE Taer, Hifem, wwiidew 2 e w vl

912345446391,

difean, &g Teer, Tavwy e, wfdea 29 A% W wifde

9133454463%2.

Question Number : 74 Question Id : 91394311378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the odd one out in context of centre of voice production or vocal registers :

Options:

91394344693, aval

91394344694, | nroat

91394344695, | ead

91394344696, oSt

Question Number : 74 Question Id : 91394311378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT it IeAR % g A T T & Ged | fam = == fifau

Options:

it (3aa)
91394344693,

%3 (¥1e)
91394344694,



TET+ (22)

913345446595,

ot (3%)

2915342448396,

Question Number : 75 Question Id : 91394311379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The book “Acts of Authority/Acts of Resistance : Theatre and Politics in Colonial and Post
Colonial India" is written by

Options:

Pritish Nandy
91394344697

91394344695, | andita Bose

91394344699, | andiBhatia

Mandiraju Bhikshu
91394344700,

Question Number : 75 Question Id : 91394311379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“wwen % Al vaem e e  fier ue vifaftsw 3 Siatfue e g - wiafea
fen” qeaeh ot oE 2

Options:

91394344897 Sl 0

Afean =g
91394344698,

&t wifean
91394344699, ﬁ

ey fag

912334544700,

Question Number : 76 Question Id : 91394311380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the items of List [ with the items of List [l and choose the correct answer from the code

given below.

List I List II
(a) Magadanta (i) Woman and tree motif
(b} Safijavana (ii} An oval-shaped window

(c) $Salabhaiijika (iii) Square capital on the top of the pillar
(d) Chitrajalagavaksa (iv) Peg in the shape of cobra's fang, curved upwards

Code :
Options:
150434470y @D G-, @©-(), @-0)

91394344702 @70, ()0, (0)-0), (d)-(D

91394344703 @0 (B}-(v), (©-(), (d)-(iD

91394344704 @7 (0)-0), (0)-(iD), (d)-(iv)

Question Number : 76 Question Id : 91394311380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et 16 wEl g 0 R wgl @ frem fifs st A= fge e e F @ wdt s g

Tt 1 Tt 11
(a) Fmre-a (i) =i vd 98 =1 F9H
(b) H=wa" (i) arern flggh

(c) wrersifoe (iii) ey o 9 et o
(d) Fmerermarg (iv) e % favg=a % o it S A IR garEer g

®e:
Options:

91394344701 @D, 0)-(D), (=), (d)-O)

91394344702 271, (0)-(i), (-1, (d)-()

o1504344705 B~ -GV, (@D, (i)

91394344704 @~ (0)-0); (©)-(iD), (d)-(iv)

Question Number : 77 Question Id : 91394311381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The naturalists, like the realists, believed that theatre should point out society’s
flaws and try to get audiences to examine social injustice.

Reason (R) : Both suggested that artists should present a picture of the real world on stage
without making their opinions or presence felt.

Code :
Options:

(A) is true, but (R) is false.
91334544705,

Both (A) and (R) are true.
912942344706,

Both (A) and (R) are false.
Q1594244707

(A) is false, but (R) is true.
91234544708,

Question Number : 77 Question Id : 91394311381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A 3 g o &, i & vk i (A) 2 oft quo o (R) B | el i afen st e fqm g
e 1 AT HTE I g |

afimeT (A) ;. Femefafeat 6t ag vFfaafeat 1w o f6 v it gars A gfeat g i
Fh guiet g e s o e 1 YT FEE =R |

T (R) : 21 3 gama foan 6 e i o va @ efeufy At wegw wEmw fan awafe
Haw it TR e Fet Tl |
G T
Options:
91394344705. () W &, W (R) T R |
91394344705, N IR TN T
01394344707, N IR TA TR
91394344708, (#) TTeTd 8, G (R) ¥R

Question Number : 78 Question Id : 91394311382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct sequence in context of ‘Emergence of the Director’ in ascending order : [Early
to Modern period]



Options:

Duke of Saxe-Meiningen, David Belasco, Andre Antoine, Gordon Craig
915942344709

Andre Antoine, Gordon Craig, David Belasco, Duke of Saxe-Meiningen
91294244710,

Duke of Saxe-Meiningen, Andre Antoine, David Belasco, Gordon Craig
91394244711,

David Belasco, Duke of Saxe-Meiningen, Gordon Craig, Andre Antoine
91Z943244712.

Question Number : 78 Question Id : 91394311382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Frdare & Igua’ % Ted o it surgan Frafefaa it adt 0 d gfe : i @ snyfas @)
Options:

& A% daaAfem, e Ao, aeg s, 7 W
91394344709,

AT, HAiea, TiEA 1, fag Jowt, T5F A6 dea-AfEee
91394344710,

% A G A, e s, e SereR!, e #
91394344711

Sfirg SR, T W AR A, T B, W e
91294344712,

Question Number : 79 Question Id : 91394311383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the odd one out
Options:

91394344713, autank

Drupad
91334544714,

91394344715, amasha

91394344716, 22

Question Number : 79 Question Id : 91394311383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ferm 1 =g i
Options:

91334544713,

91334544714,

91334544715,

91334544716,

Question Number : 80 Question Id : 91394311384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Akhyana is a traditional theatre of
Options:

91394344717, 1S

Rajasthan
9123345447185,

Gujarat
91394244719,

Bengal
913945344720,

Question Number : 80 Question Id : 91394311384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
s ford ST % s arefes e R 7

Options:

91334544717,

913345447158,

912334544713,

21594244720,

Question Number : 81 Question Id : 91394311385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Match the items of List [ with the items of List Il and choose the correct answer from the code
given below.

List I List IT
(a) Blood Wedding (i) August Wilson
(b) The Alchemist (ii) Federico Garcia Lorca

(c) Fences (iii} Jean Coctean

(d) Orpheus (iv) Ben Jonson

Code :
Options:
91394344721, 07U (BI-(0, (O-0), (D-(1D
91394344702 (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
91394344793, (a)-(ii), (b)-(v), (c)-(i), (d)—(iii)
91394344724, W (B)=V), (0-(i), (d)-1)

Question Number : 81 Question Id : 91394311385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1w o g 1w & firem i sit e fog e e #F @ wd amowt g
gt 1 g I

(a) werg afen (i) afmee faeam

(b) g wehfire (i) Spefis mifehn st

(o) &og (iii) w1 sifeen

(d) sArfFag (iv) = Ffa=

®e:
Options:

91394344721 {a]—{]_\,r], '[b]—{l.l], {c]—{]_]’ {d]_{].l.l]

91394344700 @70, (B)-(), (©-(), (d)-()

91394344793, (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

01304344704 @D, (B)=(), ()=(ii), (d)-()

Question Number : 82 Question Id : 91394311386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asserrion (A) : Grotowski's style is oracular, allusive, elusive, often difficult to access, vet lit
at times by such flashes of lightning as illuminate an entire new landscape.

Reason (R) :  For him, the purpose of theatre, indeed, of all art, is ‘to cross our frontiers,

exceed our limitations, fill our emptiness — fulfil ourselves.’

Code :
Options:

(A) is true, but (R) is false.
91394544725,

Both (A) and (R) are true.
91294344726,

(A) is false, but (R) is true.
912334544727,

Both (A) and (R) are false.
91294344728,

Question Number : 82 Question Id : 91394311386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e gt o feg mu €, o & w arfihem (A) 2 o g oo (R) § | Sl o oft i g o
% I T H TE I A |
sifirerT (A) : Tierawht 6t feft gmamfta, genfifa, qume @ ot awedt 7 w: #fe7 it &, fesht
Fo a SR 6t ST # 9ol w9 § T @ ygva =t wded weft ?
% (R) : I HFFET T 1, Bt wenadl i ww, Ievd st dimr S ar s, ger e
T |TEL FHT, AR I 9T S T 7 el we

F:
Options:

A R R)Meid & |
91334544725, W Tm® !

21594244726, (W) 3fie (R) 24w & |

A) Teid &, R |
91334544727, W § 3¢ ALk

913345447258, (A 3 () 3R e & |

Question Number : 83 Question Id : 91394311387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pick the chronological order of the following theatre repertories in India :



Options:

Bangayan, SRCP Repertory, Chorus Theatre Repertory, NSD Reperto
915924344729 i P v P v P v

WSD Repertory, Chorus Theatre Repertory, SRCP Repertory, Rangayvan
D1294244730, P v P v P v i

WSD Repertory, SRCP Repertory, Chorus Theatre Repertory, Rangayan
D1394244731. P v P v P v B

NSD Repertory, Rangayan, SECP Repertory, Chorus Theatre Reperto
91Z94344732. P v b P v P v

Question Number : 83 Question Id : 91394311387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i = Frefafiaa fruer toeht =10 a9t wee =95 -

Options:

i e b, et wim Yqreft, v wn S et
91304344720, v WA , #ia fiue twed, wouw

01394344730, Tl taehl, i foroet toeh, v e @, wed, T

a150amag7ny TS TR, TR, ted, Fiw fe twed, wme

Question Number : 84 Question Id : 91394311388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pick the odd one out in the context of Japanese theatre :

Options:

Hashigakari
91334544733,

Hayashi
912334544734,

Onnagata
91394344735,

Sheng
91394344736,

Question Number : 84 Question Id : 91394311388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



STt T & ded | fawm g
Options:

91334544733,

912334544734,

913394544735,

21594244756,

Question Number : 85 Question Id : 91394311389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘The Theatres of Bharata and Some Aspects of Sanskrit Play-Production’ is a book written by
Options:
91394344737, ©ramed Kale

91394344735, Ol Tarlekar

91394344739, |-V Sharma

9139434474n, ooverdhan Panchal

Question Number : 85 Question Id : 91394311389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g Torded aifw wia Us ow UETH 3% GEh o-SeE JEE % OE@E §

Options:

THIE Fet
91394344737,

ot ug, ATerRt
91394344738,

w= it It
91394344739,

91334544740,



Question Number : 86 Question Id : 91394311390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List [ with the items of List Il and choose the correct answer from the code
given below.

List I List I1
(a) Systems of Rehearsal (i) Cole, Toby and Chinoy, Helen K.
(b) Directors on Directing (ii) Shomir Mitrer
(c) Brecht : A Choice of Evils (iii) David Magarshack

(d) Stanislavski: A life (iv) Martin Esslin
Code :
Options:
01304544741 @D, (B)=(iD), (0D, (d)~(iv)
o150a34474p @D B)=(D), ©-0, (@-G)
91394344743 {a]_{u]s {h]_{l-], {'C]—(]_V]!. {d]_{m]
9132943244744 (a)—(iv), (b)—(iii), (c)-(i), (d)-(ii)

Question Number : 86 Question Id : 91394311390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1w o g 1w & frem i sit e fog e e #F @ wd amowt g
qHT 1 | 11

(a) fireeen w1t frade (i) e, <&t g Bl 2am .

(b) srgtaed arfa grgtfden (1) witfis firew

(c) sred : v =gy e §faen (i) 3fe Imdes

(d) Rfieamaedh -uams (V) wiféq vl

C T4
Options:
013945447q1 @D, B, (i), (d)-(iv)

91394344740 @70, (B)-(D), (=D, (d)-(iv)

01304344743 @, (0)=0), (O-(v), (d)-(ii)

91394344744, (a)-(iv), (b)-(iii), (c)-(1), (d)-(ii)



Question Number : 87 Question Id : 91394311391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Amitava Roy has written : The term “folk theatre” is itself a misnomer. What we
do on the proscenium stage is ‘theatre’; what our “folks” have been doing
throughout the centuries is best termed “Performance”.

Reason (R) : Roy's anxiety about mixing of ‘theatre’ and ‘Performance’ perpetuates the
application of colonial theoretical frameworks of the current theatrical activity.

Code :
Options:
Both (A) and (R) are false.
91394344745,
(A) is true, but (R) is false.
91z2943447 46,
(A) is false, but (R) is true.
91394344747,
Both (A) and (R) are true.
91394344748,

Question Number : 87 Question Id : 91394311391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 3 g o &, i & vk i (A) 2 oft quo o (R) B | el i afen st e fqm g

& 1 TET H T I AT |

ifirperT (A) - Afama T 3 foran B « “dire T ug s aad e firen R | gn diafem g o
w8, 98 T ;TR “arR” ot warfeedl @ w1 §, I8 Iepee @ “wegfa”
gl o Hehal & |

@ (R) : “orre” St “wegfe” % R % am # A e anamfie o nfefaf
dtafafie dgifrs swas % s St e T |

%

Options:

91394344745, 3t (R) gt e € |

A ' R) Meid & |
91234544746, W ® ¢

A) Teid &, R |
91334544747, W t e ALk

913345447458, (A 3 (R) 2F Tl & |



Question Number : 88 Question Id : 91394311392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct chronology of events and happenings in context of the Epic Mahabharata :

Options:

51394344749, Chakravyuha, Agyaatvaas, Draupadi Vastraharan, Draupadi Swayamvar
51394344750, Draupadi Swayamvar, Agyaatvaas, Draupadi Vastraharan, Chakravyuha
91394344751 Agyvaarvaas, Draupadi Swayamvar, Draupadi Vastraharan, Chakravyuha
91354344752 Draupadi Swayamvar, Draupadi Vastraharan, Agyaatvaas, Chakravyuha

Question Number : 88 Question Id : 91394311392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HeThIed WETTd o dcy # Fr=fefiga wematt = adt s =amu -

Options:

Tehodg, HAATH, FIUE TEAR, HHadT gt
91394344749,

arIdt Tage, AFAATH, GIUd TEAR, Theqn
91394344750,
91394344751

atIdt Taget, BEl SEAEl, AFIAaTH, SHeqs
91394344752,

Question Number : 89 Question Id : 91394311393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fagm =51 =7 Hifsu -
Options:
Q1294344753
Q1594244754

91334544755,



2915394244756,

Question Number : 89 Question Id : 91394311393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pick the odd one out :

Options:

91394344753, el
91394344754 M
91394344755, O
91394344756, O

Question Number : 90 Question Id : 91394311394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

International Theatre Institute is located in

Options:

91394344757, Lussia

91394344755, oland
Germany

91394344759,

91394344760, 20

Question Number : 90 Question Id : 91394311394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
geree forue e e fom 2 2
Options:

91334544757,

91334544758,



91334544759,

91334544760,

Question Number : 91 Question Id : 91394311395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the items of List [ with the items of List [l and choose the correct answer from the code
given below.

List I List II
(a) Duryodhana (i) Lopamudra
(b) Vasistha (i) Subhadra
(c) Agastha (iii) Bhanumati
(d) Arjun (iv) Arundhati
Code :
Options:
01304344761 @, (B)=(iD, (©-(v), (d)-0)
91394344760 @0 (0)-GD, (©)-(iD), (d)-(iv)
—(iii bi—(i [ d)—(ii
91394344763, @D, (B)-(), (0)-(), (d)-(1)
91394344764 2702 ()0, (@-(), (d)-(iD

Question Number : 91 Question Id : 91394311395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

get 1w o g 1 w8 e i oit e fog e e F @ wdt amowt g

Tt 1 T 11

(a) gata= () g

(b) afirg (i) gz

(c) apreey (iii) wrmfa

(d) a7t (iv) arufy

e :
Options:
150anargy @D ®)=GD, ©-(), @-0)

91394344762, (a)-(1), (b)-(id), (c)-(iid), (d)-(iv)



o15943447gz @D, B)=(), (©-0), @-GD)

913943447654 {a}—{l'u’]'; {h}_{_l}, (C]-—{_u}’ {_’d}—{_].l.l}

Question Number : 92 Question Id : 91394311396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Moirang Parva, regarded as the true embodiment of ethnic Manipuri
theatre, reached a high level of grace and novelty.

Reason (R) : Moirang Parva did not use the gorgeous body-size marks of animals, vibrantly
coloured costumes and the style of turbans imported by nobles unlike its other
Indian counterparts.

Code :
Options:
(A) is true, but (R) is false.
91394344765,
(A) is false, but (R) is true.
91394344766,
Both (A) and (R) are false.
91394344767,
Both (A) and (R) are true.
91394344768,

Question Number : 92 Question Id : 91394311396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frer 3t o fow o &, forrd & vk iy (A) B oft quo o (R) B | et i ofen st = g

& 1 TE F T I A |

Sfiawer (A) - wigt 9d it wdrg wforg e 6t gt sifteate s @ ot e o Tt
% I T G |

a# (R) Higtin e § 3 WA Tl % THH AHE o IR % ATRR F Wed gl JHehd
St arreRties Tl ot A aft anfitt gro smnfea fafim wen <t anfeat = awi =

forar ST 2
e
Options:
A . R) TTeAd & |
91394344765, W T 8, 5T (R) ¢
(A) T B, T (R) HE & |

91334544766,



H913345447E7. (A 3 () R Tere & |

91394344763, P I BTN EE

Question Number : 93 Question Id : 91394311397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence :

Options:

Bindu, Pataka, Prakari, Karya, Bija
91334544769,

Bija, Bindu, Pataka, Prakari, Karya
91334544770,

Pataka, Prakari, Karya, Bija, Bindu
91334544771,

Prakari, Bija, Karya, Bindu, Pataka
912334544772,

Question Number : 93 Question Id : 91394311397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HE S %1 999 hifau
Options:

91394344769

941394344770,

91394344771,

2915334244772

Question Number : 94 Question Id : 91394311398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pick the odd one out :
Options:

Emotional Memory
91394344773,



Observation

91394344774,
Magic If

91394344775,

91394344776, oSt

Question Number : 94 Question Id : 91394311398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ferem =1 w7 i

Options:

TS A
91394344773,

AfsAtaTH
91394344774,

ofss 3%
91394344775,
91394344776, O

Question Number : 95 Question Id : 91394311399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A series of elevations, drawn to scale, that show each side or face of an object

Options:

Oblique drawing
91394344777,

Orthographic projection
91394344775, BrApHIC pro)

Cabinet drawing
91334344779,

Isometric drawing
91334344750,

Question Number : 95 Question Id : 91394311399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ehet % AR W EH e @ fmw (ofedsen) S et aged (a5g) % g vee # qoiia &

Options:



Hrafere gign
91394344777

912334544778,

Hfare g
91394344779,

wAgaifafes gEm

91334544780,

Question Number : 96 Question Id : 91394311400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List Il and choose the correct answer from the code
given below.

List I List 11
(a) Yokhte Pwe (i} Thailand
(b) Wayang Kulit (ii) Cambodia
(c) Lakhon Sbaek (iii) Burma (Myanmar)

(d) Nang yai (iv) Indonesia

Code :
Options:
o13045447g; @D, B)~(iD), (i), (d)-(iv)
o13943447gs @, (0)=0), (0-(v), (d)-(ii)
91394344753, 70D, (B)=(), (0)-GD), (d)-()
91394344784 @70, ()0, (0)-(), (d)-(D)

Question Number : 96 Question Id : 91394311400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

et 1wl g 0 R wgl @ frems fifse ot A= fae e e | @ wdt s i
gt 1 I

(a) Itad = (D) orzeis

(b) qin Ffra () swaifea

(c) wrgm T (i) =t (wiom)

(d) i = (iv) Erfamm

C T

Options:



51394344751 W B, (i), (d)-(iv)

15094344750 @D 0=, (=), (@-(i)

91394344753, 0D (-0, (©-(), (-0

91394344754, 0 (b)—(iii), (c)-(i), (d)-(ii)

Question Number : 97 Question Id : 91394311401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Sanskrit drama is, on the whole, the polar opposite of Western
realistic/naturalistic drama based upon verisimilitude, that is, the
correspondence between the stage and the world.

Reason (R) : Sanskrit drama, like other Asian dramatic forms, viz. the Chinese Opera and
Japanese Kabuki, employs a well-orchestrated system of many non-verbal
languages involving gesture, movement, dance, music, make-up, etc.

Code :
Options:

Both (A) and (R) are true.
91394244755,

(A) is true, but (R) is false.
91334544756,

(A) is false, but (R) is true.
B1334544787.

Both (A) and (R) are false.
Q1594244758

Question Number : 97 Question Id : 91394311401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Fr= 3t o fog e 8, fodt @ us arfirm (A) # ot gao 7 (R) B | e #t afe st A feg
& I TN L HE I g |
SfiaweT (A) : Fat T gepa Jesh, ey (Slifufieftegg) suft 99w fave % &t e
ot smrarie fEedt gadard mfrward Tew feft @ foaga fada 2
a® (R) : TEHd AT H ATgA AT aUT I Fwraeht Feft sy v e ofet i aw h
aga - Hfeesh WA H gaafad worelt w1 5@ e s 2, e g,
%

Options:



91334544785, (W) 3 @) F 7§

A ' R) Teid & |
91334544756, W W t

A) Teid &, R |
91334544757, W § T ALk

91334544788, (A 3 () R Tere & |

Question Number : 98 Question Id : 91394311402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct sequence of following playwrights in chronological order :

Options:

Menander, Christopher Marlowe, Maxim Gorky, Harold Pinter
91294344759,

Menander, Maxim Gorky, Christopher Marlowe, Harold Pinter
912942344730,

Christopher Marlowe, Maxim Gorky, Menander, Harold Pinter
91942344791

Christopher Marlowe, Menander, Maxim Gorky, Harold Pinter
9159242344792

Question Number : 98 Question Id : 91394311402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiga reswsrl 1 FrasFaTTar @8 #9199 Fifa
Options:

e, foreeot wral, wfeem Tl 2o fiex
91394344759,

e, Afaaw e, Rt Arel, wtes fiet
91394344730,

foreeiot wret, Aifeem el Aer, Bies fiex
91394344791

foreeit wral, e, afem il 2les fie
91394344792,

Question Number : 99 Question Id : 91394311403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pick the odd one our :
Options:

Adaprtation
91394344733,

91394344794 T ublicSolitude

91394344795, Communion

Tempo-Rhythm
91334544736,

Question Number : 99 Question Id : 91394311403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ferem =t s i

Options:

TS

91334544733,

ufeereh dteftese

913345447394,

91334544735,

91334544736,

Question Number : 100 Question Id : 91394311404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The play “Dil Hi To Hai" is written and directed by
Options:

91394344797, | adira Zaheer Babbar

Tripurari Sharma
91334344735,

Kirti Jain

21594244799

Usha Gan
91394244800, guly



Question Number : 100 Question Id : 91394311404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“fed & 9t & e forme gro foiftaa s P 2 2

Options:

arfea TEN "
2913942447937,

Forgurfe s
91394344738,
913942447939, A

S—
91394244300,

Question Number : 101 Question Id : 91394311405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List [[ and choose the correct answer from the code
given below.

List I List I1
(a) Samavakira (i) Depicts the conduct based on hypocrisy and fraud.
(b) IThamrga (ii) It has sixteen principal characters or heroes.
(c) Dima (iii) It's theme is abduction of a celestial woman.
(d) Prahasana (iv) It has three-fold theme relating to dharma, artha and kama.

Code :
Options:
01594344501 @~ 0)=(iD), (-G, (d)-0)
01394544500 @0, 0=, ()-Gi), (d-Gi)
91394344803. (a)—(ii), (b)—(i), (c)-(iv), (d)-(iii)
91504344804 @UD, (0)=(D), (©-(D), (d)-(iv)

Question Number : 101 Question Id : 91394311405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1R ue o gt 1 el © firema Aifv sit e fog o e F @ adt amowt g

qHr1

(a) ggasnr

(b) fgmm
(0) fem

(d) wggq

T :

Options:

91334544501,

9133454450%.

91334544503,

91334544504,

qHl 11

() ungs aftt oe % aR W = w1 fasr R amr g
(i) 3o wrerg wqg@ 93 91 A4 € § |
(iii) geren oot fawa fes oft (arow) % orvemo @ Hafera #ar 2 |
(iv) goer g, e 3fft & afg fBfay go v g 2
(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)

(a)-(ii), (b)-(1), (c)-(iv), (d)—(iii)

(a)-(iii), (b)-(ii), (c)-(1), (d)-(iv)

Question Number : 102 Question Id : 91394311406 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) :

Reason (R) :

Code :

Options:

91334544505,

9123345445806,

91334544807,

91334544508,

The goal of the absurdist theatre is to shock the audience out of their
complacent existence and confront the limits of the human condition.

The idea is that the human condition is meaningful and in sync with the
universe.

(A) is true, but (R) is false.

Both (A) and (R) are true.

Both (A) and (R) are false.

(A) is false, but (R) is true.

:Yes

Question Number : 102 Question 1d : 91394311406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr= &t % fog o 8, fod @ o sfisem (A) ® 3 g@u % (R) B | Al %1 afen s = g e

e 1 TEM FHE I g |

e (A) : 7ETa T (venféee fuer) #1 3eva Ol i 39 aTrgee wiferes @ e W %
e AT o wHa feuafa f dmett &1 g w0

% (R) : e e fomm og @ 1% v fourfe anefe st sarie & sgeu et 21

He:
Options:

A ' R) Teid & |
91334544505, W W ¢

91334544506, (W) 3 ) 3 7 E

91334544507, (A) 3R (R) 2 T §

A) Teid &, R |
91334544508, W § T ALk

Question Number : 103 Question Id : 91394311407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the correct sequence :

Options:

Composition, Visualization, Scene Analysis, Picturization
91=94344509.

Scene Analysis, Visualization, Composition, Picturization
912942344510,

Picturization, Scene Analysis, Composition, Visualization
91942344511,

Scene Analysis, Composition, Picturization, Visualization
91:9434451 2.

Question Number : 103 Question Id ;: 91394311407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e A g
Options:
91394344809, e, i, G faver, e
ga Taerom, snepfteon, dwe, e

91234544510,



gFITHA, fergetoor, e, snagedter
91394344811, ™

ferreram, wwes, g, sadte
91394344812, ™

Question Number : 104 Question Id : 91394311408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Trace the odd one out :
Options:

Bapu Ke Naam
91334544513,

91394344514, ' akhAzadiki

Goodbye Swami
91394344515,

91394344516, aal Kothr

Question Number : 104 Question Id : 91394311408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ferm =1 w7 Fife
Options:

& A
91394344813, B

FeTg JATATE! i
91394344814,

T & E&TH
91394344815,

91234544516, e

Question Number : 105 Question Id : 91394311409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Female role type of China is

Options:

Dokegata
91334544517,



Onnagata
91334344518,

91394344819, 2°

Gaigata
91394344320,

Question Number : 105 Question Id : 91394311409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=t e ® Tt v 9 i fomw A @ e g 2
Options:

913345445817,

9133454458185,

215942445819,

91334544820,

Question Number : 106 Question Id : 91394311410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List [ with the items of List Il and choose the correct answer from the code
given below.

List I List II
(a) Ben Jonson (i) England
(b) Andre Antoine (ii) BRussia
(c) Erwin Piscator (iii) France

(d) Mikhail Shchepkin (iv) Germany
Code :

Options:

91394344871 (a)—(i), (b)-(iii), (c)-(iv), (d)-(ii)

51394344502, (a)-(i}, (b)-(iv), (c)-(ii), (d)—(iii)

01394344503 B0 0=, ©-GiD), (d-Gv)

91394344824, (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)



Question Number : 106 Question Id : 91394311410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et 16wl g 0 R wgl @ frem i st A= fe e e | @ wdt sww i

Tt 1
(a) = SfiTaa
(b) iz Hieai

(c) zfem frespen

g 11
(1) gt
(i) =g
(i) wrg

(d) firder whfcem (iv) et

He:

Options:

913345445821,

H913345445822.

913345445823,

913345445824,

(a)-(D), (b)-(iii), (c)-(iv), (d)-(ii)

(a)—(D), (b)—(iv), (c)-(ii), (d)—(iii)

(a)-(D), (b)-(ii), (c)-(iil), (d)-(iv)

(a)-(iii), (b)-(i1), (c)-(iv), (d)—(D)

Question Number : 107 Question 1d : 91394311411 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) :

Reason (R) :

Code :

Options:

2915394244825,

913345445826,

912334544827,

2915334244825,

WVakhtangov's Fantastic Realism advocates that an actor who lives the inner
experiences of a character must embody them with creative imagination.

His belief emanates from Stanislavsky’s teaching — “The truth on stage is not
what happens in real life, but what could happen.”

Both (A) and (R) are false.

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Both (A) and (R) are true.

:Yes

Question Number : 107 Question Id : 91394311411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fr= gt #oe fog o E, o @ vs aifir (A) ® o gmo 7 (R) B | o #t afgu sft i feg g

&e H T4 F T I A |

HfipeT (A) : FEarIrE 1 S quredarg St w2 fa fandt % sriafes svet 4 R
aret AT i GoHTHS Head1 & T1Y IE WTHL AT 905 |

i (R) : I Tarara wafearasdht < 3o @ & 309 BT & - “OTHE &1 Oeg 98 961 8, W
gefar Mt d g 2, ar g ae 2, s e frgwan 2 17

He:
Options:

91394344825, 3t (R) Tt Tt € |

A ' R) Meid & |
912345445826, W Tm ¢

A) TeAd &, R |
91334544827, @ ¢ ¢ ALk

91354344525 (N R FE

Question Number : 108 Question Id : 91394311412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pick up the correct chronological order of the following Indian plays :

Options:

Nildarpan, Ashad ka ek din, Ghasiram Kotwal, Taledanda, Tumhari Amrita
91294244529,

Nildarpan, Tumhari Amrita, Taledanda, Ghasiram Kotwal, Ashad ka ek din
D1294244530,

Nildarpan, Taledanda, Ashad ka ek din, Ghasiram Kotwal, Tumhari Amrita
91Z94244551.

Nildarpan, Ghasiram Korwal, Ashad ka ek din, Tumhari Amrita, Taledanda
91394344532

Question Number : 108 Question Id : 91394311412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i = Frefefiaa arest =1 ot Semm TaE -
Options:

Hrergdu, HAmE # , STERE Fiqare, Teges, Trar
91394344829 w fe i



Frergdur, , Teies, STEHH Siqard, A9e #1 U6 fod
91394344830, T g -

Hrergdur, Teide, JTTg wi U feA, e sidard, grard
91394344831 A o

Freradu, arem FHiqard, 3T9E F O e, , Ties
91394344832 &, et s

Question Number : 109 Question Id : 91394311413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pick the odd one out in the context of regional origin :

Options:

Bhagat
91234544523,

Swang
913945344534,

Bhagavata Mela
91394344535,

91394344536, | \autank

Question Number : 109 Question Id : 91394311413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
2rfra g ¥ ded & faem % wf
Options:

91334544533,

91334544554,

91334544535, B

913345445836,

Question Number : 110 Question Id : 91394311414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Bharata's theatre ‘Pati/Apati’ means

Options:



Curtains on the stage-doors
91394344537,

Flexible curtain which could be used on any part of the stage
913945448338,

The curtain between rangapitha and ranga&irsa
91334544539,

The drop curtain
91334544340,

Question Number : 110 Question Id : 91394311414 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

T % e | ol adt o oo @

Options:

913345445837, A% TR g W R

01294344858, e 9te fomem s 9= o et s & fopan w1 @ 2

frdte 3t Tmefd & e % T
91394344839,

ECER T oA
91394344840, TN T (5 )

Question Number : 111 Question Id : 91394311415 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List [[ and choose the correct answer from the code
given below.

List I List II
(a) Subconscious through conscious means (i} Théodule-Armand Ribot
(b) An actor needs twenty years to master his profession (ii) Eugene Vakhtangowv
(c) Affective memory (iii) Frangois Talma

(d) Play your point of view of the character, not the character (iv) C.S. Stanislavski

Code :
Options:
Q12942344547 (a)—-(ii), (b)-(i), (c)-(iv), (d)-(iii)
21394244542, (a)-(iv), (b)-(iii), (c)-(1), (d)-(ii)

91394344543, (a)-(iii), (b)-(ii), (c)-(iv), (d)-(1)

Yes

:Yes



91394344344, (a)-(iv), (b)-(iii), (c)-(i), (d)-(i)

Question Number : 111 Question Id : 91394311415 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

gt 1w o g 1R w8 firema Aiforg sit e fog e e F @ wdt amowt g
qH 1 q 11

(a) S @t & wread & Hawaq () rege-smiq fate

(b) e arfirran it s 99 & Frgoren wrea (1) gl et
F % fore g ad saves d9 8

(c) v fawaes wyfa (srsfaea amtd) (iii) sreat drent

(d) wra =t =& =fees oy & aw & o (iv) ft.wa. wfeameeh
gfeesion &t sficfta fifse

ETE
Options:

91594544841 @D, (B)=(D), ()-(v), (d)-(ii)

01304344840 D=, 0)=(iD), (-1, (d)-()

91394344243, (a)-(iii), (b)-(i1), (c)-(iv), (d)-(1)

91394344844 (a)-(iv), (b)—(iii), (c)-(ii), (d)-(i)

Question Number : 112 Question Id : 91394311416 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : By virtue of being a protest movement, [PTA changed not only the content but
also structure and conception of theatre in India.

Reason (R) : By performing for masses rather than for limited audiences it made theatre more
readily available to a section of society which had previously either ignored
it or been prevented from seeing it.

Code :
Options:
Both (A) and (R) are false.
Q1294344545

(A) is true, but (R) is false.
215942445486,

Both (A) and (R) are true.
913942445847,

Yes

:Yes



(A) is false, but (R) is true.
91334544545,

Question Number : 112 Question Id : 91394311416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fr= 2t %o o Tu 8, fomd @ o sfienem (A) B of g o (R) B | Sl &t afen s = fm e
e H AT FaE I g |
e (A) : ‘TR HEeH & Td 521 7 7 Saa favg-agg, afes wia § o i g ek
Tehea Ft +ft afafda fem 2

@ (R) : Hifira et % =y sman & fore wegfa 37 @ T v % o @ s @
Iyered g1, o weet gaeht e <t ot I Juet SEA A T T |

He:
Options:

91394344345, N TR T TR E |

A R R) Meid & |
913345445346, W W t

91394344547 W TR TRT

A) Teid &, R |
912345445458, “ § w3 Al

Question Number : 113 Question Id : 91394311417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Give the correct sequence in the context of geographical origin from South to North :

Options:

Nautanki, Jatra, Kuchipudi, Katraikluttu
91394344549

Kattaikkuttu, Kuchipudi, Jatra, Nautanki
913943244550,

EKuchipudi, Kattaikkuttu, Jatra, Nautanki
91394344551,

Jatra, Nautanki, Kattaikkuttu, Kuchipudi
91294344552

Question Number : 113 Question 1d : 91394311417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafaa = gfam & s it o 37 vitmifers 3gmm % wed o adt a =y



Options:

91234544549,

291594244850,

913345445851,

91334544852,

Question Number : 114 Question 1d : 91394311418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Pick the odd one out :
Options:

Dutavakyam
91394244853, Ay

91394344854 Duta Ghatotkacha

Dutangada
91394544355,

91394344856, Daridra Charudatta

Question Number : 114 Question Id : 91394311418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferm =1 w57 Fifs

Options:

91334544853,

q Heiee
91394344854

AT

9123345445855,

LT
91334544556, i

Question Number : 115 Question 1d : 91394311419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following movements focuses on the disharmony between the human search for
meaning and the inability to find it ?

Options:

91394344557, Loalism

91394344g5g, | psurdism

Impressionism
912345445859,

91394344860, Creationism

Question Number : 115 Question 1d : 91394311419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafofaa 4 & st femum (qae) s 3g a=dta @te aun 38 g 79 # samda & de
FHTHAE T Hgd Al & 2

Options:

gyrefarg

912334544857,

913345445855,

21594244859,

912334544860,

Question Number : 116 Question Id : 91394311420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List [ with the items of List Il and choose the correct answer from the code
given below.

List I List I1
(a) Harischandra ki Ladai (i) Bansi Koul
(b) Ahalya (ii) Bhanu Bharati
(c) Pashu Gayatri (iii) Prabir Guha
(d) Khel Guru Ka (iv) Urmil Kumar
Code :
Options:

9139434461, 7V (BI-(D, (9-(0), ()-0)



(a)-(iv), (b)-(1), (c)-(ii), (d)—(iii)

91394344862,
Q1294244853 {a-]_{ﬂl"]:- {b]_{u], {c]—{m]’ {d]—{l]
01394344854 (2~ 0=, ©-(iD, (d)-(iv)

Question Number : 116 Question Id : 91394311420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1R me o gt gl & e i oit e fag o e F @ wdt s et g

@ o fiagd O @A

(b srgen i) g wreeh

s Gi) el e

(d) @& 7% &1 () fter Fm

e
Options:
91394344551 @01 ()0, (-0, (d)-()
91394344862 (a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)
91394344563 @70, ()0, (-0, (d)-)
91394344554 @0 (0}-GD; (©)-(iD), (d)-(iv)

Question Number : 117 Question Id : 91394311421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : [n Zat Pwe, cross-gender performance is acceptable but rare.

Reason (R) : Zat Pwe troupes are always led by a ‘male actor dancer’ and often the secondary
leads are his brothers or sons.

Code :
Options:

(A) is true, but (R) is false.
91334544565,

(A) is false, but (R) is true.
91334544566,



Both (A) and (R) are true.
91Z94344567.

Both (A) and (R) are false.
Q129423445865

Question Number : 117 Question Id : 91394311421 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr= 3t %o fog e B, o @ us afireem (A) @ offtgmn 7% (R) B | o w1 afen afic = g g
Fe 1 T4 FTE I g |
stfirer (A) : W2 W H ‘Fra-Set wedfa s 2 vig T agd AT R |

% (R) : e o Hee! H A g UF G AfvEar Adw gra fen aman # o fgdtes e
ek gl aft gt grr R e 2
% :
Options:

A ' R) Teid & |
91334544565, W W t

A) Teid &, R |
91334544566, W ¢ 3¢ ALk

21594244867, (W) 3fie (R) 24w & |

H91334544565. (A 3 () R Tere & |

Question Number : 118 Question Id : 91394311422 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of following Sanskrit plays :

Options:
Vikramorvashiyvam, Uttara Ramacharitam, Mrichhakatikam, Sariputra Prakarana, Pratima
91394344860, | awakam
Pratima Natakam, Mrichhakatikam, Uttara Ramacharitam, Sariputra Prakarana,
Vikramorvashivam
91294344570,
Sariputra Prakarana, Pratima Natakam, Vikramorvashiyam, Mrichhakatikam, Uttara
91394344571, amacharitam

Pratima Natakam, Mrichhakatikam, Sariputra Prakarana, Uttara Ramacharitam,
Vikramorvashiyam
912942344572,

:Yes

:Yes



Question Number : 118 Question Id : 91394311422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiaa dewa el 1 wdt n 9f
Options:

| ferspmteefiam, 3o wafias, goowfes, amftgs v, sfae Jew

912345445673

wfermT Aren, Geadwieds, I TH=iEy, T v, famarasig

2915334244870,

| arfegs wetor, sl Ares, faspatdsitay, geowfes, 3w wme=fay

91334544571

sfert Areen, Jeadichn, T Fehr, Ie i, fasmareiay

912345445872,

Question Number : 119 Question Id : 91394311423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pick the odd one out :
Options:

91394344573, orand

91394344574, e Intruder

The League of Youth
913394244575,

Q13942344876 The Pretenders

Question Number : 119 Question Id : 91394311423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e = 9
Options:
21394244573,
q Frgst
21394244574,
i 3w 1

913345445875,



g fieeed
91394344876,

Question Number : 120 Question Id : 91394311424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In make-up, a device such as a false nose, beard or other appliance that is added to the face to
change the actor's appearance is called

Options:
91394344877, | rosthetics

Stipplin
91334344575, ppine

Corrective make-up
913345445379,

Rubber-mask greasepaint
91334344850,

Question Number : 120 Question 1d : 91394311424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U319 (®9-8wa) § AT % 49 Hi Tge 6 70 Sa TS T arelt Thel A, g1 A
felt 371 <t 1 7 b e B 2

Options:

91394344577, Srelfe
91334344575, feevemn
91394344573, WA A%
913934344580, TRATE e

Question Number : 121 Question 1d : 91394311425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the items of List [ with the items of List [l and choose the correct answer from the code

given below.
List I List 11
(a) Srikrishan Pehalwan (i} Jarra
(b} Maadhubhai Nayak (ii) Nauranki
() Mukunda Das (iii) Bhawai

(d) Guru Ammanur Madhav Chakyar (iv) Koodiyattam
Code :
Options:
— - 'h . =aa _ & d _ .
913943244351 (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

91394344882, (a)-(iii), (b)-(ii), (c)-(iv), (d)-(D)

91394344553, 00 (P)-(W), (@), (-G

91394344584 @70 (-0, (@-(), (d)-(id)

Question Number : 121 Question Id : 91394311425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et 16 wEl g 0 R wgl @ frem fifs et A= e e e F @ wdft st g

(@) s TEeraH O e

(b) g Arreh ) e

(d) 75 sy Mo TR () Ffeagm

e
Options:
591394344881 (a)—(ii), (b)-(iii), (c)-(i), (d)-(iv)
91504344850 @UD, (0)=(D), (©-(v), (d)-0)
91394344853, W (bI-(), (c)=(it)), (d)-(1)
01394544554 @0 (0=, ()-(iD), (d)-(i)

Question Number : 122 Question Id : 91394311426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Bharata recognises three factors of successful performance and production. They
are connected with actor-characters, actual stage production and the richness or
brilliance of dramatic spectacle.

Reason (R) :  According to Nityagastra, the actors are expected to be quite suitable for the
roles they are to play; the production (prayoga) is connected on the one hand
with the quality of the script chosen, and on the other with songs and music and
the vacika, angika, sattvika abhinaya. The spectacular is an aspect of costumes,
jewellery and the variety of stage equipments.

Code :
Options:

(A) is false, but (R) is true.
21594244885,

(A) is true, but (R) is false.
913345445856,

Both (A) and (R) are true.
91294344557,

Both (A) and (R) are false.
91394244588,

Question Number : 122 Question Id : 91394311426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fr 3t @ fog o 8, fadt @ vs arfirmu (A) 2 offt gao 7 (R) B | el #t afge sft i feg
e H AT FaE I g |
e (A) : WG 3 ghe segfa aun Fufo % 9 % o § | g3 gayg sifieearst, awafss 0w
Fomtor qen e atfirm < aggar svaer wfaw @ g R
Th(R):  TEdETER % AR, wufEr grar @ T, erfirtar 39 wftreeett & for oft e s A,

St 372 Frarft &; Frafor (i) <6 g s SR A 5 MO FUTE ht qoreen & wrr #
aur gl i soe ey fawfta aun aifes, s, arfees sfm @ g

SN, Sy, syt o fafis wen % w9 e & vEe R |
%
Options:

A) Teid &, R |
91334544885, W & ¢ Auk

A ' R) Teid & |
913345445856, W IR t

91334544857, (A 3 (R) 2F Tl & |

91394344388, oV 3t (R) Tt Tt € |



Question Number : 123 Question Id : 91394311427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pick up the correct sequence of the characters of the play ‘Othello’ in order of their appearance.

Options:

lago, Othello, Cassio, Roderigo, Brabantio
91394244589,

Othello, lago, Cassio, Roderigo, Brabantio
91394244590,

lago, Cassio, Othello, Brabantio, Roderigo
9123942344591,

lago, Othello, Cassio, Brabantio, Roderigo
91394344592,

Question Number : 123 Question 1d : 91394311427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘IS ATEH o UTH I ATCH H Ieh IUFEYT T o ATHN Tal 0 H =57 FIAT |

Options:

9139423445589,
9159242344530
91:94344591.
91294344592

Question Number : 124 Question Id : 91394311428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pick the odd one out :

Options:
91394344593, Vovement
Analysis
91394344594,
Picturization

9133454458395,



Composition
91394344596,

Question Number : 124 Question Id : 91394311428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferm =51 =9 ifsu
Options:
Heed (qEre
91394344893, ( )
fergeror (wfeafis)
91394344894,
grareA (Rerardas
91394344895 ( )
oA (FEtfoem)
91394344896,

Question Number : 125 Question 1d : 91394311429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The concept of Germany's “Grips Theartre” in India was first adopted by

Options:
Theatre Unit, Mumbai
91394344897,
Theatre Arts Department, Osmania Universicy
91394344598,
Padarik, Kolkata
913294244599,
Theatre Academy, Pune
9132942443900,

Question Number : 125 Question 1d : 91394311429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T < aragmon “fireg faued” wt wiE # e e stgAmE 9 2

Options:

foree 3fie, g

2153394244897,

et sdw Fewrdite, samfen gfaRid

91234544595,



agifereh, shicishTdl
91394344899

foruer wreht, got

91334544300,

Question Number : 126 Question Id : 91394311430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Martch the items of List [ with the items of List [ and choose the correct answer from the code
given below.

List I List II
(a) Itis a delicate, graceful mode of dramatic (i) Dhruva
presentarion.
(b) It is a conventional, stylised mode of dramatic (ii) Aviddha
presentation.
(c) Itis a wordless song using sounds of svara or  (iii) Kaigiki
rhythm beats.
(d) It is a vigorous dramatic performance. (iv) Naryadharmi
Code :
Options:
a)—(iv), (b)-(i), (c)-(ii), (d)-(iii
91394344901 (a)-(iv), (b)-(1), (c)-(ii), (d)—(iii)
(a)=(i), (b)-(ii), (c)-(iii), (d)-(iv)
91394244302,
(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
913294244903,
(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
912394244304,

Question Number : 126 Question Id : 91394311430 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1 ue o gt 1 gl & firema Aifv oit e fog o e F @ wdt amow g
1 qEl 11

(a) g Areehig wegfe &t g, i Bt 20 (D gan

(b) g Areehia wegfe &t wtwrm, dfmg #eft 8 1 (D anfag

(c) =g Tax e g i ATl A w0 g weg (i) Hfrhr
g fa 2

(d) 75 st Frefrr weqfer 2 | (iv) Areaad
%he :

Options:

913943449[:]1 {3-]_{“!"]5 {b]_{].], (C]—{u]’ {d]_{m]



91394344500 2@ (B}-GD, (©)-(iD), (d)-(iv)

91394344903, 7 (0)-(), @-(W), (-0)

91394344904 &7, (BI=(), (0)-(), (d)-(1)

Question Number : 127 Question Id : 91394311431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pick the odd one out :

Options:

91394344905, | ne Bear

The Marriage of Figaro
91394244308,

Swan Song
912334544907,

The Wedding Reception
913945344908,

Question Number : 127 Question Id : 91394311431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefeafiaa & & fawm 1 =97 Hife .

Options:

91334544305,

21594244906,

2915334244907,

g dfén faom
91394344908

Question Number : 128 Question Id : 91394311432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The machine, in Classical Greek theatre, for lowering actors into the playing area is called

Options:



Masque
91394244909, L

91394344910, °K0

91394344911, iekane

Melpomene
912345449172,

Question Number : 128 Question Id : 91394311432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
aredra et (i) T | arferaned it Hee g H Iard 9T 99 (ef) 6 e S @

Options:

91334544309,

91334544910,

912334544911,

91334544912,

Question Number : 129 Question Id : 91394311433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List Il and choose the correct answer from the code
given below.

List I List II
(a) Samuel Beckertt (i) Symbolist Playwright
(b) Anton Chekhov (ii) Realistic Playwright
(c) Emile Zola (iii) Absurd Playwright
(d) Maurice Maeterlinck (iv) Maturalistic Playwright

Code :
Options:
91394344913, (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

01304344914 @D, (0)-0), (@-(v), (d-(i)

91394344915, (a)-(iii), (b)—(iv), (c)-(ii), (d)-(i)



91394344915, 20D, (BI-(D, (=D, (d)-(iv)

Question Number : 129 Question 1d : 91394311433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

get 1w o gt 1 w8 frema i oit e fog o e F @ wdt amowt g

@I H\ﬂ’[![

(@) Fqe 9= O yeftwardt AR

(b) vt wdra (i) S

() ufirer wirem ). ke

(@) whfew defers (V) srpita e

e :
Options:
91394344913 20D, (BI-(D, (Q=(), (d)-)
91394344914, (a)-(iii), (b)—(1), (c)-(iv), (d)-(ii)
91394344915, (a)-(iii), (b)-(iv), (c)—(ii), (d)-(i)
9150434401 @UD, (0)=(D), (©-(D), (d)-(iv)

Question Number : 130 Question Id : 91394311434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Trace the odd one out :
Options:

91394344917 Double Plano-Convex

91394344915, | ano-Convex

Ellipsoidal
91334544919,

91394344900, | rosnellens

Question Number : 130 Question Id : 91394311434 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fawm =1 =7 $ifs -



Options:

91394344917, R S
91394344918, -
91394344919, Qerveites
91394344920, T

Question Number : 131 Question 1d : 91394311435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the items of List [ with the items of List [l and choose the correct answer from the code
given below.

List I List II

(a) The most beautiful of all doubts is when the (i) Jerzy Grotowski
downtrodden and despondent raise their
heads ........

(b) No one seriously concerned with the theatre (ii) A. Lechika
can by-pass Brecht.

(c) Grotowski has emphasised many times that  (iii) Bertolt Brecht
the most important thing for him is searching
for answers to the question : How should one
live ?

(d) It is possible to reduce oneself to man as he  (iv) Peter Brook
is; not to his mask, not-to-the role he plays

<eves... ONly to himself.
Code :
Options:
91394344921, 7> (0=, (OG0, ()-()
91394344902 (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
9139434493, 7, ()=, (-(D, (-
91394344924 0 (O)7UD, (A=), (D00

Question Number : 131 Question Id : 91394311435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1R me o gt 1 gl © firema Aifv sit e fog o e F @ adt amowt g
qHr1 qHT 11

(a) galt oo TR @AM A M gaFAd ot () oA dierewehr

(b) =td oft ivfi (zmififer) Treel o & et &t (i) u, afwew
e TE L HHar |

(c) idreaeht 3 % o1 36 a0 W ad fom fr gess (i) @efee wed
foru gegt wevapf <t 39 woa 1 I @ §
o ‘fereft safem =t % <t =nfee 2’

(d) fereft =afors it 39 w9 & fommn s |va @ S| (V) dergs
T8 &; 7 % o 3o gaita 2, 7 St 9 qfiem
framar 2 ... el IEH T hETH |

®e:
Options:

91394344921, 7> (B)=(0, (900, ()-()

915943440900 0¥, 0)=(iD), (-1, (d)-()

01304344955 @, 0=V, (i), (d)-0)

91394344924, (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

Question Number : 132 Question 1d : 91394311436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The play ‘Karodo Mein EK is written by

Options:

Markand Deshpande
91394344925,

P.L. Deshpande
91394344926,

91394344927 Wanav Kaul

Ajay Shukla
91394344928,

Question Number : 132 Question Id : 91394311436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘FArEl O uh Ao Tohe foran 2 7



Options:

A8 Code
91394344925,

dt.ue. e
91394344926,

91334544927, e

EEERICE]
912334544925,

Question Number : 133 Question Id : 91394311437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Trace the odd one out :

Options:
91Z94344529,
Suresh Bharadwaj
91Z94344920.
91394344931, Dnaskar Chandravarkar
G.N. Das Gupta
912943445932,

Question Number : 133 Question Id ;: 91394311437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferm =1 w7 Fife

Options:

t. Tfd

91334544929

gt wrgrs
Q1394244930

HTEHT Frplaiehl
2915342445951,

HLEA. gE
91394344932 T

Question Number : 134 Question Id : 91394311438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The folk drama of Tamil Nadu is
Options:

91394344933, Durakatha

91394344934, | herukoothu

Magal
91334544935,

91394344935, Cambhira

Question Number : 134 Question Id : 91394311438 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
aftrel 1g *1 A AEH §

Options:

i

91334544933,

913245445924,

91334544935,

912334544936,

Question Number : 135 Question Id : 91394311439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List [ with the items of List Il and choose the correct answer from the code
given below.

List I List I1
(a) Ashirwad Rangmandal (i) Ujjain
(b) Adarsh Rangmandal (ii} Bareilly

(c) Seagull (iii) Guwahati
(d) Rang Vinayak (iv) Begusarai
Code :

Options:

91394344937, 07U ()=, (900, (-0

91394344935 2@ (B)-GD; (©-(iD), (d)-(iv)



91394344939, @0 (-0, (©-(iD), (d)-(D

91394344940, (a)-(ii), (b)-(iii), (c)-(iv), (d)—(i)

Question Number : 135 Question 1d : 91394311439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

et 1wl g 0 R wgl @ frems fifse ot A= fae e e | @ wdt g i

(a) smftafs toiger (D 3=

(b) amedt mise (i) et

© e (i) Tparerdh

(d) 71 femrarsh (iv) e

e
Options:
91394344937 (a)~(iii), (b)-(iv), (c)-(ii), (d)-(i)
91394344938 {a]_{l]s {h]_{ll], {-C]—{ul]’ {d]—{ﬁ.’]
01394344059, @0 (0)-), (<)), (d)-(i)
91394344540, (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

Question Number : 136 Question 1d : 91394311440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pick the odd one out in the context of regional origin :
Options:
Sumang Leela

91234544941,

91394344940 | ‘hkianat

91394344943, | amasha

91394344944 cdesia

Question Number : 136 Question Id : 91394311440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
2rfra g ¥ ded & faem # gfi
Options:
AT e
91594344541,

91334544947,

2915334244945

fareftmn

2915394244944

Question Number : 137 Question Id : 91394311441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Sanskrit Play ‘Bila Ramayana’ consisting of ten acts is written by

Options:

91394344945, uran

9139434494, | oshovarma

Rajasekhar
215394244947,

91394344945, " Shakhdatta

Question Number : 137 Question 1d : 91394311441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TH IRl ST TR AT WTel THTHU i AE@H 7
Options:

qaf

91334544945,

91234544946,

91334544947,

91234544945,



Question Number : 138 Question Id : 91394311442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List [l and choose the correct answer from the code

given below.
List I List IT

(a) Ankiyanat (i) Kamataka

(b) Bayalata (i) Assam

Code :
Options:
91394344949, @~ (0)-), (0)-(w), (d)-(ii)
91394344950, (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
91394344951 {a]_{lll]s {b]_{lﬁl’], {c]—{u]’ {d]_{l]
91394344952 (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 138 Question Id : 91394311442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et 16t wEl g 0 R wgl @ frem fifs st A= e e e F @ wdt It g

et Tt 11

(a) aif me (i) wafes

(b) mrgser (i) 3y

() =m (iii) For

(d) Feepren (iv) wferon

e
Options:
91394344949, - (0=, (©-(), (d)~(1)

91394344950, 2@ (B)-GD; (©)-(iD), (d)-(iv)

91394344951 (a)-(iii), (b)—(iv), (c)-(ii), (d)-(i)

41394344952 (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)



Question Number : 139 Question Id : 91394311443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pick the odd one out :

Options:

91394344953, Durmallika

91394344954, ¥ asika
Sthapira

91394344955,

91394344956, atallika

Question Number : 139 Question Id : 91394311443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fagm =51 =7 Hifsu -
Options:
Q1394244953
A13942344954,
Q91394244955
Q1294244956

Question Number : 140 Question Id : 91394311444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who amongst the following made a quote that “The language of the body is the key that can
unlock the soul” ?

Options:

Meyerhold
91334544957,

Jerzy Grorowski
912334544955,

91394344959, o Artoud



41394344960, Konstantin Stanislavski

Question Number : 140 Question Id : 91394311444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiga 5 & faer %um & f6 v 6w, s it stfisgsd 01 A Foft & ahdt 27 2

Options:

91394344957 e
Al TretawEh
91394344958,
ATl
91394344959, w
wi-gefen wfeamarht
91394344960.

Question Number : 141 Question Id : 91394311445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List [ with the items of List Il and choose the correct answer from the code
given below.

List 1 List II
(a) Jatayu (i) Satyavati
(b) Bhisma (i) Virata
(c) Brihannala (iii) Sampati
(d) Lakshman (iv) Sumitra
Code :
Options:
91394344561 @D, 0)-), (=D, @)-({)
91394344950 @0 (0)-(iD), (©)=(), (d)-(1)
91394344963, (a)-(ii), (b)-(iv), (c)-(1), (d)-(ii)
91394344084, 70V (I, (O-(1D, (D~

Question Number : 141 Question 1d : 91394311445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1R me o gt 1 el © firema ifv sit e fag o e F @ wdt amowt g

Tﬁﬁl Iﬁﬁu

() werg 0w

© Feran (iif) Fwrf

(d) e (iv) gt

T :
Options:

—[iii bi=(i ST d1—(i

9159434496571 {3.] {lll],{ ] {l]:n {'C] {ll],{ ] {ﬁr]
01394344050 B0 ®)=iD, ©-Gv), (d)-G)
91594344965 @7, 0=, (=), (@-(i)
91394344954 @701 ()01, (-0, (d)-()

Question Number : 142 Question Id : 91394311446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pick the odd one out :
Options:

Vita
91394344965,

91394344966, "ok

Vidasaka
91394344967

Ceta
913345449368,

Question Number : 142 Question 1d : 91394311446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ferm 1 =1 i

Options:

912334544965, fe

21594244966,



fagqr

91334544967,

91234544965, w

Question Number : 143 Question Id : 91394311447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Forum Theatre is associated with which of the following Director ?

Options:
91394344969, chard Schechner
Auprusto Boal
91394344970,
Eugeneo Barba
91394344971,
91394344970, | orer Brook

Question Number : 143 Question 1d : 91394311447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wiw faver w1 gay fFrafefias 4 @ fra s a 2 2

Options:
frad s (I
913943445869
91394344970, S
ot amat
91394344971
det
91394344572, qﬁ

Question Number : 144 Question Id : 91394311448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Trace the odd one out :
Options:

MNylon
91334344973,



Polyester
91394344974

91394344975, -nen

Rayon
91394344976,

Question Number : 144 Question Id : 91394311448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferm 1 =g i

Options:

913345445973,

LI [t =

215942445974

91334544975,

91334544976,

Question Number : 145 Question Id : 91394311449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Indian Satirical play that entered into Guinness Book of World Records is

Options:

Adark Ke Panjey
91334544977,

9139434497g, ' \nde Ke Chilke

31394344979, Meri Biwi Ki Shaadi

Mare Gaye Gulfam
91334244350,

Question Number : 145 Question Id : 91394311449 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

" wdta s Tres it it 9% 31w oo feriga o ofeifea fmm mn 2

Options:



HGH & T
91394344977,

91394344975, e % o

913345445973, 7 e A

TR T AR
912942445980,

Question Number : 146 Question 1d : 91394311450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pick the odd one out in the context of Puppet theatre :

Options:

Gombeyatta
91394544951,

9139434490 | avaKathakali

91394344953, Lundhei Nach

91394344954, andaNata

Question Number : 146 Question Id : 91394311450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FYaelt THe % wed # fm = gf
Options:

21594244951,

2153394244952, ar

91234544953,

73 ATl
91394344934, ©

Question Number : 147 Question Id : 91394311451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the Sanskrit Dramaturgy, it stands for the elements of play-production viz. costume,
make-up, property, etc.

Options:
Atodya
91394244955,

Ahirya
A1=29424498E. -

91394344957

Angahara
913945344988,

Question Number : 147 Question Id : 91394311451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g Are fagra & srgam Frafafas & @ frae smm T fffa & fafim =t 38 S, o
AT, TR TG H B ?
Options:

91334544955,

91334544956,

91334544957,

913345449558,

Question Number : 148 Question 1d : 91394311452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Pick the odd one out :
Options:

91394344989, The Ghost Sonata — Ben Jonson

Twelfth Night — William Shakespeare
91394244990,

Major Barbara — George Bernard Shaw
91394344991,

Endgame — Samuel Beckett
91334544932,



Question Number : 148 Question Id : 91394311452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freaferfiaa 4 & faag #1597 it
Options:

g i diEmeT — 99 Siaee
91394344989,

Zaery Tm5e - faferam Saafien
91394344990,

91394344991 S A — S e ;W

TSt — By dhe

91334544932,

Question Number : 149 Question Id : 91394311453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the audience finds difficulty in making out what words the actor is using, then it qualifies as a
faulty
Options:

91394344993, ocution

91394344994 T ronunciation

91394344995, | onation

91394344995, _nunciation

Question Number : 149 Question 1d : 91394311453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

oz 3fenl Fi T8 901 AT | Hiears gl & fr st e v w1 i o 8, 9 5@ efafie |
B AT 519 gl AT B ?

Options:

TR (Fc)

913345449393,

AT (I=m)

912334544994,



TEHIE (TEtrEmT)
91394344995,

UG (Trseteam)

2915342449396,

Question Number : 150 Question Id : 91394311454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Trace the odd one our :
Options:
Ambik
91394344997, a

91394344998, alika

Privangu Manjari
91394244999, yangt :

91394345000, Sovith

Question Number : 150 Question Id : 91394311454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferm =1 = i
Options:

91334544957,

2915342449395,
S

9123345445993,

291334545000,



